A. B.. and C gtarted a bllSine-gs WJth investments Df? 4'2001 ? o .400’, 7 5‘400 respectively_ At. the
end of the year they got a profit 0f ¥ 6,000 and they reinvested their profits in the business. At

the end of next year the ratio in which they get their profits i
A, B, Cen St T 4,200, 7 8,400, T 5,400 2600008 2.5 s ommy @600 o, éogge:’ggcooéoe‘jﬁ

B8 T 6,000 ertfo $y0b. TB CFOD FEFC0E” BOA 2tnndrr DEpth. B850 Sobisdo & T

08 ergre 0:4)8. |
(D 7:14:9 (2) 8:11:17 (3 23:54:69 (4) 29:56:36

A rectangular plot of dimensions 210 meters % 120 meters is divided into 4 equal parts by two

roads each of width 12 meters running in the middle of it, one parallel to the length and the

other parallel to the breadth. Then the area of each part is (in Sq. meters)

2108 x 120 &p e Fodenrr Ko 2.8 6 SEHERSERH Yoo Gnk) TPEHD, Sen Sdrodsorr ot
qux}é Sogggre Ee.iaé:ﬁf)& 125%. 0 Stéeny e Botd 55655 ] Q&P?Ocl-ﬁl NS grrrenre BT om. 0N

2,578, erifo GiE) 3eeeg0 (3.0086°) )
(1) 10,692 (2) 6300 (3) 3816 ) 5346

For a square, the lengths of its side and diagonal are equal to the diameters of two unequal

circles; The ratio of the areas of the smaller circle and larger circle is
&8 Sedido ¥ ghassin $0c DLW BPEHen Bod VRIS HyEre TRred SEPSHB, DY)

SyEo SoBakw G HyEre Jeeerw AN)8
(1) 2:3 | gx}/f-s @ 1:2 (4) 2:5

After 2022, the next immediate calendar year which will be s&% as 2022 1s
2022 Sod& Boerm ahprdsort &0t s2Boib HosEto 0228 &8 ot STy BodsyBo.
(1) 20327 (@) 2033 /Q{J 2026 (4) 2028,

In 2022 August 15% is on Monday. Then the day of the week on which Republic day will be

celebrated in the year 2024 is - okic]
(1) Tuesday (2)§ Wednesday (3) Thursday (4) Friday
2022 e 15 FHrdo ©owd, 2024 $ Sos8)808° Kedod BFE Ko 2HHHIO FEos™ B
%08 & 6 .

(1) SoX¥arto (2) engarBo (3) Mdarso @ isvtele

Ll S |

A person P started a business with ¥5,00,000. After 3 months, another person Q
joined P with ¥4,00,000 in the business. At the end of the year, out of the total
profit Q received a total of ¥50,000 including 20% of the profit for managing the business. Then

the amount P received is
Pos et &8 5,00,000 Erarches® &8 aﬂgﬁo‘?\)&@"do&omﬁ) 3 Joe $Haes 4,00,000 Erarchos®

Qo3 HEE &8 P & sdros Borth. 08 00806" Boio €740 08 argdrTr) VEEFODSOES
i 4508° 20% 8 $erdER Fvgorr 50,000 Erdrchorh Qrotrd. wond PRFobs

(1) %45000 255,000 (3) 60,000 250,000




(O ) o \P
7 RT\\%ﬁletpipesAandBworking ot : terinatank having capacity
QLP 160 units, If A alone can fill the tank iiezrgtﬁ"lhours ﬁl-l 72 unlits 0; wg a;;ne P
(1) 2Shours (2) 1s hoy, Sip time taRestoy (4) 16 hours

S 3) 21 hours o
160 ey P80 Ko &80 A DBy ﬁ“é.)ﬂo(J é)% 4 Kobed® 72 chrdl M8 doherax. (B
Aa.-ég!ﬁ ﬁ“ga’n 20 Kobed® Joda, B&'égﬁ - K)“ PO X
(1) 25Koten (2) 1550ty ° == . 16K0ten N A
© (3) 21 #obe (@ N
2
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§. Two train run on parellel trag, = kmph and 108 kmph. When they are
ST R opposite du:ectu?ns they CTosseach other completely in 5 seconds and when they are
running in the same direction a Passenger sitting in the faster train sees that the other train

passes completely in 30 seconds. Then t}q Jers Do £
s gthof the faster train is (in meters)
GOt 08 Simods Huped ot 126 8, & (& 0% C s b 3Kos® é(tbﬁc‘fgém“&ma. o $;888

BEOS SHNOHHHE ©D LETITES e oS 5 Dok BH%od. HOd o8 BES
DRADHHDD, oy 308" IHHK) Beye Erthydy o8 HArBh Boks Beod 8% o
EIEHTI8 30 DEorh HBBR KHVoToes, BONE D FK08® I8, Bew FEH (Hreasst) - \.Lr’(o
(1) 150 /(5) 200 @) 175 (4) 225 k,; ~\o%

L ——— =
9. A trai_n of 450 meters long moving with g speed of 65 km/hr crosses a man travelling in some
direction of the train in 27 seconds. Then the Speed with which the man moving and his directionis |1 ©
}1; 15 kmph; Same direction 2) 15 kmph; Opposite direction Ch
3) 5kmph; Samedirection _ 243 5 kmph; Opposite direction
450 ot DD KOS Bew Kot 65 8. &, Fsogh Bl 27 Vo’ .8 HES° Harditng, o8

$580 crendod. & $:8 BasreBoB Ko HBakn Betmdod B8 25
(1) Kots® 158 &;286% D/,—,er é;_»j’ Kot 158. &; 5,835 6% g
(3 Kowwsa.tvedas (4) Kotk S8, &, 55888 68
10.  Two cubes, each of volume 4,096 c.c., are joined to form a cuboid. Then the difference between

the surface area of the cuboid and the total surface area of the two cubes is (insq.cm)
&858 4,096 0. 20. . HIBOBP0 EOAS Both orerds KO 2.¥ &8 R D8Pt wpd

goiio s, 65080 Feros0 B Both fomre 6B Serere Anaeds Ko Bo (3.20.8.06%)
(1) 512 /(2‘)/256 (3) 1,024 (4) 1,536

11. A solid cone is melted and with that entire material a sphere is made having volume of
38,808 cm’. If the radius of the cone and sphere are equal, then height of the cone (in
centimeters) is
&8 $0%9: E6R0D & Ando BEr08° $i50Ere0 38,808 cm? &) o8 Feed) $05rt Bt S0k
8o, Fgo TP B350 wond, Fo%d 28 (R0l ess®).

(1) 42 (2) 25 84 (4) 36

12.  Pipe A can fill a tank in 30 minutes and Pipe B can fill it in 45 minutes. But third Pipe C can

empty a full tank in 15 minutes, A and B are kept open for 15 minutes in the beginning and

then Cis also opened. Since then the time required (in minutes) to empty the tank is
&8 o A i 30 Apdpoctie, Bed 20 45 ADidrestin dobied. s+ fumis pid CAo>

&0 15 Dared® pod Bovres. sy 159000 $5% A, Bekh 859 doge. $hard C 2 Eree
B0, ey 208 tmioth g v SEel seisehis oo (Iiest).

(1) 15 @) 45 A3) s (4 0




13. A Motor Boat travelled to a point B from A and Teturned to A. The speed of the stream 18

3 km/hr. If distance between A and Bis 2 km apq tota] time taken to the round trip is

30 minutes, then speed of the motor boat in still Water ig
A0l B8 o8 Srerd> B85 @rebod 80N A® 30108, g5, 6 Mot 38. B, e0. A, B 595

&r0 28. &, 00k 8 BAPEIS HEX JAHO 30 92, 30e,y wond, 910 D& S Jro.
(1) 8km/hr (2) 1km/hr (3 oxm/ne (4) 6km/hr

14.

In a race of 1200 meters, A can beat Bby 120 meters ynq in a race of 800 meters B can beat C
by 40 meter. In a race of 400 meters by how many Higtery sarA beat G2

1200 2. © 56076 $0306° B A 120 &. © 8678 6805516, 555 800 B, 0 B B6306F C D
40D, © 8z8° BB, 400 &, & 5510 $080st O g AR does Bee8® A L.8oSHe ?

@ ss (2) 42 (3) 60 “f sa

15.

In three different vessels A, Band C, asyrupand water are mixed in the ratios of 2:3, 3:5 and
S:7 respectively. 15 liters of mixture taken from A, 16 liters of mixture taken from B and x liters
of mixture taken from C are mixed in a new vessel to have the ratio of syrup and water as 2:3
thenx =

et DKy Jren A, BBtk Cod® .8 DES 080k H8Y $re 2: 3, 31 5 %6 5 : 7 A Hes®
SR8, Aol 15868 Dusirdy, Brod 16Hexs 2isr0y SoBato Ciiood xHE DFSErY BH%HD

28 58 @S BES 00 VB A8 2:3 oty E0S. wond x =

@/24 (2) 20 (3) 18 4) 17

16.

In a mixture of acid and water, if 1 liter of water is added, then the new mixture contains 20%
acid. When 1 liter of acid is added to the new mixture, the acid in the resulting mixture is

1
335 % . The percentage of acid in the original mixture is ﬁ
e (acid) 8050 Aehe WFH0E 1 Herth DD EOBB & 5 QF0s® 20% st dod. & 5

1
QFEEDE 1 Dbt 8D EOHE HOS Dodns® 335% B30 B0n08. @80 EnEt Yot

Ko serdo

(1) so (2~ 22% | @25 | (4) 3712

17.

The speed of a motor boat in still water is SOkmph. If the motor boat travels 60 km

against the stream in 1hr 30 minutes, then the time taken by the boat to cover 100 km

along the stream is (in minutes)

oS WP o8 Irerb K85 g So KowH S0 8. d. 1 Ko 30 IDest HarEod
DB & Irerl HKS 60 8. . Habedy, Pardro Sowd & HKS 100 8. H. Hoirdoswdd é&é

Sifoavo (Aared®) -
(1) 130 (2) 110 @) 135 @4)\ 100



18.

Th . - -
o costpriceof an article Bis 25% More than that of an article A. Articles A and Bare marked

u? by 30% and 20% respectively. Article A issold at a discount of 10% and article Bissold at a
discount of 5%. If the selling Price of

the cost price of article Bis
B ek 0D %) 8 8 Awd g
30% 8050 20% QBB @EAEF
WO, A &3 HRDH ¥y o
B3 555 s, 0% 656,
(15/:’:' 200 @ %250

article A is ¥ 51 less than the selling price of article B, then
2D G, 85, 5 o8 25% Dy, A, BiSkhe Sen Stk
T, A 6 55959 10% N0 8%, B & 80 5% Shoar
5958 Bod 5% 0% 35085 &8 o8 51 Erdraben $%38

(3) 2260 (4) %300

19.

The cost price of an article is 64% of the marked price. If the article is sold for 12% discount on
the marked price, then the profit percent ig \ b - ¢ -

&8 5P &%) 8 888 556° 64% 58 8553 12% orand 50) & S5 wéa;é e TE0

(1) 48 () 285 @ 375 (4) 25

20.

T —

In one kilometre race, A can give Bastart of 100 m and can give C a start of 200 meter B can
give 20 min to C over a race of 200 metres. The time taken by B to run 200 meters

(1) %min (2) ;_min (3) %m;l (4) %émin

28 86°8s6 5815 030ét A, B 100 Doy 65 C 2008065565 £.8oSKot. 200 Dt HoBost
B, C 20 0:iwire 808 &.805K00. 200 dnexs smiso 55R8 08 B & HES o

(1) lTﬂaas»a»m cz)/ i_mnaaw @ %Qmmauw (4) %amaom

21.

The present age of A is twice the age of B. 15 };ears ago the age of A was thrice the
age of B. Then 25 years ago the age of A was A M

(1)  7timesthe age of B. (2) 6timestheageofB. -
(3) Stimes the age of B. (4) 4timestheage of B.
A Gug, 8 Sy B Glog) Sy Soid By, 15 Saistoe 880 A Qv 05 B G
SAD0E Sareesy O&. wowd 25 Nodéyore B8o A Gws) S . A

) Baws, st 73, @ Bamgsammmesm. o K ,
(3) Bawgsavio ok, (4) B, Sciosog 438y, L

@\

22.

The ratio of ages of Ram and Rahim after 5 years from now is 11 : 10. The ratio of their ages
4 years agowas 8 : 7. The ratio of their present ages is
oD, 55 © Scthrow 248 S Soddyore $omgs 11 : 10. 4 Soddyore Swoth 8 Sabrine A8

8:7.@6@@&5&:,%03@ ] _
/(;; 1:1 ((3)) 28:25 (4) 21:25

(1) 19:17



23.

r_,/

1 -~ 2 4 o
If the sum of the fractions 12“3'» ]0'6' isxand thesun, of the fractions 7-3—.] 7 18y then X =3}

2 .4
12-;—, l[)-g- o Digyiiwe FoFo x DO 75-1; 63 % %00 méoymwé =)=
3

I @ 3 i3 - 14—
(1) 147 14 (3) 137 A 14

24.

If the digit in the units place of the square of an integer is x, then the sum of all possible
distinct values of x is
&8 Frorosin s, 5900‘ e80 .3;;’)0:5‘ ®08 x ®opd, x sl o9 DDF) Deve G, Inogo

25 (2) 27 @) 28 (4) 32

L

2

3 [27| 2
{[-2197x{j-125+ 37347 = ﬂ

(1) 174 2) 31 (3) % (4) 1233

26.

If xis anintegersatisfying the equation 9x™" +9x? =82 then 12+ 2\/; =
x 638 9x7 4 9x°Y = 82 6 SEEEwR) 83 563 0. rBsony wond 12+ 2Vx -

(1() 1+\/ﬁ @ 3+\/§ (3) \/§+\[§ (4) 2+\f§

27.

The set of all perfect numbers and twin primes among the numbers 1,2,3,4,5,6,7,8,91s

1,2,3,4,5,6,7, 8,9 Somgos® Sorg Sopyen $0Baks ginry($50) @0rs SowoDios $ind
(1) {1,2,3.4579}(2) {134,579} (¥ {34579y (4) {3.5.6.7)

28.

A25 digit number is such that its extreme digits are same and all other 23 digits are same
but different from extreme digits. If that number is divisible by 11, then end digit can't be
&8 25 ®o8en Ko éoa:;eﬁs D50 B°He @08en ko aotraw. ADS 23 eoSen Sirdorr dotar 950

E°%0 ©080% Do dotra. & Sop; 113 erhodnl8 DHb ©o8 seEri ©os
(1) 9 (2) 8 5 @) a

29;

Let G be the GCD of three numbers 3,780, 3,465 and 3,003 and L be the LCM of 3,465 and

3,003. Then 336 =

3,780, 3,465 5605 3,003 ©F et Howge K. .27, G50 3,465 58k 3,003 EE) €. 3. K.
I

Leoowsd ——=

33G
(1)) 65 (2) 780 (3) 455 (4) 429
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30. A person invested T18,0
: s 00 a¢ € rate of 20% compound interest per annum. Then the
Interest he gets after completiy, =0 eEPmpe

®duration of two years is
&5 38 18,000 trarabes g
§ 20 - R, P Both Ko ooe sPe
SO ID s Sy o808 s g 0 S B8 Degalis g o 4

&
27,920 -
(2) 4329 (3) %6,750 (4) 8,670

e i

and Rs. yis the value of the landyeaf' IfRs. x is the value of the building at the end of 3 years
Which appreciates at the rate of 5% compoundingly and the

value of the land initially is Rs. 32'00,000 T

3125000 8m3mc0 Z)e;oaﬁ SR e gsse S0 ) SIS 58 Q0% 50 & oSS @FrEogios® ab)

T Dol p 4% Bt P B0LIOB. g 8058 & 25550 Do x Grvdrcten 606 Srboost

32,00,0008»3rcsoe mé%f % 25ortsey St eSLgcﬁnom SIS Qe:vo Dend y &‘@‘dﬁ)@é. b e

(1) 609700 939600 (3) 600000 (4) 508900
e

32. UT,=T,+T,,Vn23and T,=T,

=lthen T, +T, +..+T,, = Be 1A
T=T +T,,Vn23 %6 T =T, =1 wowd L+h +..+T, =
(1) T, +4 ) T, -1 (3) T, +1 (4) T, +T,,

33. A person invested an amount of ¥ X at the rate of 18% simple interest per annum and an

amount of ¥ Y at the rate of 12% simple interest per annum. He received an interest of
4,320/ - at the end of the year. Had he interchanged the amounts invested, he would have
received an interest of ¥ 4,680/-. Then |X _Yl =

(1) ®osoo/-  —(2) 8000/~ (3) 7500/~ (&) 6000/

&5 $8 HoBH 008 18% 5end® wetsds X sridectoe Bveed) Bk SoSE T8 12% Gins® emiosA
¥ trirbe 2080 Tgolie 27k, S8 mrosing’ 68 4320/ - b S o
am;omwémmJeoém%sox-@m:@n&oa 6oCrD. 808 [X - Y| =

(1) 9,500 &raraben (2) 8,0008rdhe
(3) 7,500 &rarchen (4) 6,000&=>chen

34. The ratio of a principal and the total amount with r% simple interest rate on that
principal after 1 yearis a : b then value of rin termsofa, bis

&8 SRt HOak AP 28 SoSEBo SoS r Firdy 348 edly 20 o 248 4 - bewd

r&wéa,buﬁ‘
) (b=a ”b—ﬂ} G) Z2am (@) 2%ae

pu -



police, the average heighy is 150 cm. Later it is discovered that for

x policemen heights are copied wrongly as 160 cm ingtenq of 190 cm. BY taking the Correct

heights, the average18 increased to 155 cm. Then x -
600 o0 Bbiben &y &8 00 BEPOAHS 650 T8, S 2% 150 Do. . T8, F0&° X

FFHS 526 Dipen 190 RO, &, DEXMT 160 20. 8. 1™ grctopans wQ SO, S0 €03
b5ok0B, 0 HovH0 a8 155 0. 8. % DBACB. KR x
(1) 120 v (3} 180 (4) 150

5% on its cost price. Later

35. In a police battalion of 600

Hoh
HeED

36. The marked price of a newly arrived article shows an increase of 1
this marked price was decreased by 20% as the article is outdated. If the cost price of the article
is 21,200 then the profit or loss for the shopkeeper with the current selling price 18
(1) 5%]loss (2) 8%loss (3)  10%gain (4) 7%gain
B 58, 30K e 509 Bty PEBE BoTIEH Je 15% Joyre SeHR0. & S5 Qs) SP0
3OS SHhard T DHEGE I 20% BPRoTB. © 5P @) B 3o 1 200 Srrcheond RS
o050 B08° 6 el §) ooEEn Boe K.
(1) S%g0 (@) s%sgo (3)  10%erto (8 1%erdo

37. A sum of ¥ 5,600 is distributed among 12 people consisting of men, women and
children. The ratio of the total amounts given to all men, all women and all children 18
9: 4 : 1. But the ratio of the amounts received by each man, woman and childis3:2: 1.

Then the amount received by each women is

(1) 7250 (2) %300 3y z400 (4) 450
BBsioe, §en HBa den Ko 12 %00 Hhes 5,600 Srdrche Bnardy Hobe Baeh. hiveotds,

Sootss8 $805 Heeotsds ayd Resioo) Foee DB 9 ¢ 4 1 1. 50 BB HHHO, 8 § Hdcm ©8
Doas $58 Kéorr ©obd Toere A8 3:2: 1. oond $8 § 8 ©obd Jridmy,
(1) 2508rarchen  (2) 300 Spdrches  (3) 400&warchen  (4) 450 Braechen

38. Certain amount ¥’ is distributed to three persons A, B,C. Agets25%
difference of B and Cis equal to the share of A. Then the ratioin which A, B,Cg

share of x. Twice the
et the amounts

o

is
4.0t L B, € 00 S08 oo x SoSsod. x & 25% T Ao, Awer B 28050 C artre

Bss5o0i5% Both By @ad, A, B, Cen 8700 Sneze I8

.
(1) 26:72:59 4:7:5 (3) 8:13:9 (4) 2:7:6
d—
39. Theaverages of 3 different dataD,, D,, D; are 30,40, 50 respectively. If the average of D, and

D, togetheris 38 and that of D, and D; together is 42, then the average of the threedata Dy, D,

and D, together is
D,, D,, D; o3 Jetd DS, BErosre I Ssme 30, 40, 50. D, $bcn D, o Sockng drién

38 58650 D, 5B D, © Soding St 42 wowd D;, D, 5065 Dy o Srdols $ken g
(1) 44.53 (2) 42 (3) 4312 @ 40 .

o

/



40. A cancomplete a piece of . , ' | "l o
L begin the \.I'r).rm*li3 Etloréf:}?;- ;Erk;“ 1873ays and B can complete the same work in 12 days. Both
:/.\ Kfé{l%g clig‘:’;' thEéjré the nUm}E;e‘;E;-fggme gaYS’ B leaves the work. If A finishes the remaining
® &0 5 ays B worked i
& r i P B 12 Sracstion 176 SabKeL. BEER 90 FCATHSH
N 8ere $thars Be 530 56 3 = i

(1) s 2. A0 509 36 et ALPE TR, BEA IS B0 don;
(2) 8 > ( (4‘) 6 _.___'" ¥ 1
41. l4mencandoa workin 18 dg 3] 4 ’ - :

LV for first 3 days and 10 women Y8. 15 women can do the same work in 24 days. If 14 men work’

| 7 men alone and the time ’r.aslker::v }2 Tk after that for 3 days, then the ratio of the time taken by

14 508 HtHs & Y 5 women alone to complete the remaining work is
IODen &8 DI 18 Favoet St rets. 15 08 Heo o3 3D 24 Bared® Tohred.

B 14 500 H&H %
} : VO&@&)@D@JSDCS&.J:;GG&PQJQK)ahlé&éB 3 8%ren 10 5008 Hen H TR, HADS HIV 7 Hob
7 IR0 EEDH LY INT0, S50 ey iy 00 S roine Sl

(1) 2.3 (2) 3.4 é) 1:3 ) @ 1:2

(1) %.ofthe amount to be paid to B, (2)

b

Equal to the amount to be paid to B.
1 .
(3) = of the amount to be paid to A (4) L ofthe amount tobe paid to A.
3

28 50 A e8yd 108eros” S 00 o 590 Babd 15 Seest Savken. A, Ben 30,000
Eraraboth © B R BADEI8 ©oAEBomt. CHBabos’ ath 8 50D § Bwes’ (ro I3, wond

C8 3903 Indo
(1) B2 3903 avios® ;_é So. (2) B&3Dod Aner0d Hmio.
(3) A83803awgos® ;_ 3 So. A8 3803 Bndodt %é o,
43. If 22%% increase of a number is 98, then 22%% decrease of that number is
&8 Somgs® 22-;:%2363:‘6&69 98 eoowd, & Sogs® 2ly, oo ﬁ
49 (2) 53 62 (4) 45

44. A shopkeeper sells his goods at 30% profit on cost price. Due to an error in weighing
machine, it weighs 20% more than what it displays on its screen. Then the profit or loss he gets 1s

(1) 8 L 9% profit (2) 10% profit (3) 10%]loss (4) 81? % loss

3
&8 BISRIPEHS ©8 SHHes ES) $5 30% eriod® DEaninh. ErEY abogoed’ Ko 8o Su o
852 E0103 0D Bary 20% oS &P R HE0H. SPd ©EIS $%) rgo Boe $ho

o 4 1
@) sg_%ems;s» (2) 10%ess  (3) 10%gE A 8L e

45. A Shopkeeper sells an article by offering 24% discount on the marked pnoe and there by gets
a loss of 5%. If he does not offer the discount, then the gain/loss he getsis

20% gai 2) 29%loss (3) 25%gain (4) 21%]oss
ga)eﬁnsvm W%?cg;‘. 8BS 3.-_(;1;.3) 24% P8P 8.8 $xp 08, 5% Ko SD)0b. orowd B0t o8,
53‘3 ergfo Boe K)E;lo.

(1) 20%ergo (2) 29%%go @/25%950 (4) 21%8g0
9
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46. The time between 7 and 8 0°clock when the minute hangis 5 minutes behind the hour hand is

(1) 30% min. past 7 O’clock (2) 32% min. past 7 Orclock

(3) 43% min. past 7 0’clock (4) 4 % min. past 7 0’clock

7 85 8 Kot Sy AL ez rfobe ey Ko § NYen 3o A0 Hoaho. ﬁ
) 71“1069030% D&naren (2)) 7800 32% koo dpen

(3) 7Hobe 43]_-‘:- Qwaren (4) 18obe 3]1_3T QBoaen

. __-_______—__
47. If mand n are the number of rotations of hour-hang and minute hand of a clock respectively
in 72 hours, then n—m=

2.8 KBRS0 72 Kotws® Kot Knen, DD Soeney St m %6 1 G 58 om0 B

m= \ 3

(1) 66 2) 72 3) 24 4 s6 R R
48. Three persons X, Y and Z are employed to do a Piece of work. X and Y together complete s A

25
partofthe work. Y and Z together completed % partof the work. Ifall the 3 agreed to complete

the work for ¥3,250, then the amount X receives more than that of Z is

&8 5D 0 B8 Surhh Syhen X, Y 00 Zes detoDootiacets. X 50t Y o0 508 2L geio
25

ST TP, Y H0cin Zeo¥0S % 2P0 BV GG BI. & HAV 0 BoOrrDS © i 3,250
Erdrabet e.8)0t50 $othsyos Z Kokl X & s 53, awdo.
(1) 2210 - (2) 520 Y 1,69 (4) 1,170

49. Amanstarted 10 minutes late from his home to his office. He travelled at a speed of 1 1 times

4
of his usual speed and reached his office in time. Then the time taken by the man to reach his
office at his usual speed is (in minutes)

28 B8 85 5080l 85 s 10 ADFer seore acherdod. ©dd Ferse 3ras 1L dy

4
Brf08° Basredod KO@H SHAPE 8% whibl By, vond ©8 FrrdRIKos® 8% b
BEETSTO8 w8 BHES S50 (Aviest)
@m 50 (2) 60 (3) 45 Y 75
persons P and Q started travelling towards each other at two places A and B respectively
at 7 AM. The speeds of P and Q arein the ratio 4 : 5. Somewhere between A and B they met at
Cand spent some time together. From Cat 8.07 AM P and Qstarted travelling towards B and
A respectively. If P reaches Bby 9.12 AM, the time they spent at C together is
(2- 12 min (2) 15min (3) 17min (4) 20min
a5dbo 7 Koo P bddn Qen S5HKm A $0a BIare $00 .50 BH% 505788 adbes S0,
P 580 Q © 3rro 8 4: 5. A $0a B o 55 C o3 5% 5% Seniof®D Fos $oaho KAIE
C %ol aabo 8.07 HobwH P 8ok Q eo SIS B $H80 A & 3% adbes 3o, B D ascho

9.12 Kot P 308, C5t5 apth) SO0 KK Kibabo.
(1) 1208ndve @ I50%mdper  (3) 17%m¥e  (4) 2098

50.




51.  Directions : Consider th
er the fonowing information and answer the question given below

For the selection of
amanagey ; its .
A Candidate S€ring company, the following are the conditions to be satisfied.

(a) mustbe a grad i
graduate wit -
(b) ason 1 July 2022, mu:t& Minimum of 60% marks

a
(c) musthaveatleast 50% m Veless than 30 years

arkg;
3 : In X class
(d) musthavea diploma /degy, / P.G degree in management

()  musthave minimum ] ye
\ _ ar wor i
In case-a Candidate satisfies al] t},, ab};:;{ Ssxieirtlic;s except

L. .
(e) above, he must have 60% and above at X class and P.G degree in management

Minimyy, 2 years of work experience.
D, then such case will be referred to CEO.

€1995, and has graduation and P.G degree in management. He
has I-;- years of work experience, During his academic career from XI standard he got 75%
marks. Then Mr. X

(1) Canberecruited as manager

(2)  Cannot be recruited since only one condition is not satisfied

(3) Cannot be recruited because he does not have minimum 2 years work experience
(4) Will be referred to CEO

eSSen : & Bob DNTrok & Bob BES asaren 2508 56800308,

&8 B0 &° DIasb D DETIT0S 85 Bob Datpiiven Sy HETD.

s @25’59

(a) 520 60% Lrbyed® S6eHE sowd

(b) Sy July 1,2022 568 30 S058 006 sowd ’

(c) e 86K8S* 8RS0 50% 580 KOA dowed

(d) @3Byl &° adpiir /S6e5 5ot (degree)/ P.G Her 8O 4o

(e) BI%0 a8 Bo58 )80 HAS® wdEHo sowd.

2.8 ©gfsD 2 BSH 82 H89 .

L (e) 8206358 88, 555 861586° 60% BS 008808 25 irthe0 ©0 HIBpES & P.G3dep

85)% o

I1. (a) D 83 5538 98, 088 $dido 2 S0k tre H edngbo somed
o8 00 Gng) DFar DStren BODEYS, werod vl CEO So@hod Hodutomos.
Mr. X &5:5 15, 1995 & et 0o HIB0E5 6° Hesehtd 00 P.G Htp D08 aamyth. 0528

1] Sossre 50 egso dob. XI 8658 08 08l Joryissos® 75% drtnm o, SHpd
2

Mr. X was born on 15t Augus

Mr. X%
(1) B3Besb rr DcHMoSTrR8 Jinsiei)
o8 0% DOHE0 ByR) SESBE Bidot o8B
3) 8o 25058 00 B9 eogsSo Btk K08, 288 Bk
CEO Sopbodi Hodanrd JE—
11
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ing information and Angw, jon given IOI : : b
52. Directions: Consider the following €r the questio s ST A
For the selection of a manager in a company, the follnwmg are the conditions .tf satisfied.
A Candidate _
(a) mustbeagraduate with a minimum of 60% mark,
(b) ason 1* July 2022, must have ?cau than 30 yearg
(c) musthave at least 50% marks in x‘c]aﬂﬂ .
(d) must have a diploma /degree / P.G degree in mjs Nagement
(e) must have minimum 1 year work oxpeﬂgn'cn
In case a Candidate satisfies all the above conditions, except
I (e) above, he must have 60% and above at X class and p i3 degree in manage
II. (a) above, he must have minimum 2 years of work experience.
I[fany information is not known, then such case will be referred to CEO.
Mr. Y wasa 1* classstudent throught his academic ctareer and completed his 25" birth day on
2" September 2017. Prior to applying for this Post of manager, he worked as assistant b A
manager from 1*July 2018 to 3" August 2019. He had 5 diploma in management from [IM. o
ThenMr. Y
(1) Canbe appointed as manager
(2) Cannot be appointed as he is above 30 years of age
(3) Cannotbe appointed as he does not have 2 years work experience
(4) Canbe refered to CEO
RrSNen : 6 Bob DTrod 6 HH eares sbmr08 5640030l
&8 500 & Hdesb D DS I8 & Bob Ddbkres 8D S50, e
el 93559
(a) 8o 60% Srty08° LR domd
(b) ScHryJuly 1,2022 88 30 SodS ey oD
(c) 55 S5K86° 8Hi50 50% ey en SN domrd .
(d) SIZ8 &° & /DB (degree) / P.G Hex 5D domO
() &S0 ek BoS8 Ko HOS® ©e5S0 Ao, :
&8 ogfd DR JNSY &) 38D
L (&) D 8)25558 8, 5655 $5K86° 60% B¢ wodkols QS Eren S HIBpES & PG
DEF S8 dowed
IL (a) &y 5558 98, w8 8850 2 Nodd ore O S0 GO

mﬁw;gm;a@msammw.ww@cmw

- ! "'ll

M. Y&GK)wgﬁ&m&mMﬁm&weoﬁv&M?@pﬁl201'I:625{;;3%;5
&wa’;rgﬁa’ném&c&:‘é&ﬁuﬁa&w%sﬁ@ownsm&%&aﬁmmv@ 1,2018 %02

® ,2019w§5nsv&.rmmmaapﬁjd@wM-%mxa
Idur b0y

2) B8 308058 00 1S o K08 DIae ahvosBin
(3) 230880 awasoaa:ms&aau;mﬁm
(4) CEORogbod% sowss
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53. Six persons Py Py, Py P, P, ang h floor in a building hawi :
. - 00 ) 1n £ 2 81)

Aoty Sisibovedl o Bkt . P¢ live one on eac . ' g having gix
Qo . top. P, lives in a floor immediately below the floor of

P,. Ps lives in the floor lmmediatel bel_ f P,. Three people live between th
" ' ree e en the
( floors of Ps and Ps. P, does Not |; o the floor of P
live on any floor below the floor
the persons P, and P, respectively )

ol ool 3 0% ®ogy
Oy  SO5 W08 D8 108 6 56D w0y, 506" wbivw Sghen Py, Py, Py, Py, Ps 508050 Py en
LERD TEPHS ASvHTD. P ‘

) oy 3 & P

| e~ !N L08R I Jobd Bo a8) ©osRE” P; dotrtd. Py ¢
\ oSN <

b -'é;:‘f’j 0wl l-g‘?: f;? “OP0E Py otnid. Poiobams Py e» éiy 0o B8 Surods

o R0 AINHTy. © ‘Pvg T3 BY & wosips® P, DShosto. P, axy woshs ot & 5

\ 2 feo8iaets somat Py e smiis, b g p e, Pg en $8350m; o @osines® d0mmS. wond P,

) 8o P, en D5%0d wosige domges g

[ : ]

- 5&1 (2) 3&s (3) 2&S5 (4) 4&S

Ve in the top most floor. P, does not show interest to
£R,. Ps and P live on the even numbered floors. Then
Ve in the floors.

r‘-\54- Study the following information carefully and answer the questions given below.
There is a family of § members A, B, C,D,E,F,G, H. Dis the grand-son of F. G is the son-in-

R\\ law of C. F is the mother of B. A is the wife of B. His the daughter of C and mother of D. Eis the
-/ ' daughterof A.

—  Whois the fatherof D ?
808 JEr o) ep ST ©iahso 3D B08 B55a:S ©E10% emredHAa.
A,B,C,D,E F, G, He3 8 £08 S50 Ko 2,8 $60000 600, F Q@8 &858 D. C Gw¥) wentts G. B
%y 89 F. B Qo a7 A. C Gy Erifots 90t D oy 89 H. A Gy o B,

D @&, S0 5% ?
(1) C (2) B 3) D @/G

55.  Assertion(A): Antibiotics do not treat the Corona infection,
Reason (R) : Corona isa virus; not a bacteria.
Choose the correct option from the following:

(1) (A)istrue, (R)is true and (R) is the correct explanation of (A)
(2) (A)istrue, (R)is true but (R) is not the correct explanation of (A)
i )

(3) (A)isPruebut (R)is False -

(4) (A)isFalsebut(R)isTrue ¢ &

D0 (A): ciroBadingl 6t ©otnBH LS Sdbo 0. \

®Smo (R): 56 06 e BUR; orifodie . o)

&' 08 96 a0 HEPEREND JohEol: Q “‘f
(A), (R) &0 $58gmen H8c50 (R) 030 (A) & KOG Diddes

(2) (A).(R)eo585wen, 508 (R) 636 (A) 5 SOGS Dbe s Q&ﬂ

(3) (A)S8550 5 (R)s85550 0

(4) (A)S8550 5t 5oh (R) S



56.

Assertion (A): Now-a-days, knee pain is a COMMON complaint. Knee replacementisa boon
n . ow-a- 1
for such sufferers. ‘ G
Reason (R): Necessity is the mother qf invention.
Choose the correct option from the fo]'lovsnng :
(1) (A)istrue, (R)is trueand (R)is the correct explanation of (A)
(2) (A)istrue, (R)istrue but (R) is not the correct explanation of (A)
(3) (A)isTruebut ((R))m Fr'I?lﬂe
(4) (A)isFalsebut(R)isTrue
e (A): & Eed IreD T FoEn YD s o (s IreD ErOB a8 500,
w6mo (R):  wisiso sdibnh $ 5086, ¥ .
& 808 TS 08 96 oS SEPERSEND JoHE ol
@ (A), (R) e %5000 £8¢5o (R) 6536 (A) % 5005 9588

(2) (A),(R)end8g5men, 520 (R) 036 (A) % 508&S Db 52t “
(3) _(A)28550 5D (R) 8550 50
/(A')/ (A) Sgm 575 529 (R) Segedon
57. Read thestatements and mark the correct answer.
StatementI: The pricesofpetrol products have increased substantially during the past few
monthsin India
StatementII: The prices of many goods in India are increasing now-a-days
These statements may have a cause and effect relationship or may have independent causes
or be the effects of independent causes.
(1) TIiscauseand Iliseffect
(2) Iliscauseandliseffect
(3) I, Ilare effects of independent causes
(4) I,IIare causes of independent effects
BSETrod SHD HOGED SBrgraeR) 080D,
OSS80:  grod BEost K Q) Joenre, iEten adde e Keldhorr HBMmow
BT IT: & Sty srood’ 88 B¥od® arer 590 S8 DEKET .
& 5Stren S8k $H0ak Herso 6 Bomogrd) $OA sk, Sor R0 SEmren 5%, Boe
DT S Heraren SHD). _
(Y Ismo gerso J W% S RS
(2)  Iseo I gerso \)f& | N L% oV
L, I en Botls ¥sos se8eme Heparen g\(§ W
(4), T, IenBoth s gherape sodemes kN
58. 'If:,the Eng}ish alphabet is coded with numbers from 1 to 26 starting from the last letter to the
first letter. A meaningful word is hiddeyin the codes given in the following options. That sads -
80K SEroS® ¥Troh upd vt

& Sot583 wEBo S8 1 5008 26 555 (a1} Qongod® K800
it Coordo.
Bob 1y mi)ﬁen}é_‘ 108 erRE® 2PA &%) ek ©8HoEDD Do A dod . e 8BS0

(1) 8-18-22-14-11-15 (2) 11-12-13-23_9_9¢
(3) 8-7-9-14-22-26 8-18-14-11-15-27
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59.  Choose the correct alternat;,, {; 3 7 nt i;.i-lgaf will complete théseries.

» B Vi I
-—

Tom
\% th‘egweno o YL 1\ 1Yy T 14

CX,FU,____ 1O
N 208 Hod CX, FU,
SRR 06 —— LO@‘eaa BogPBo TH KOGN oDy Aysed. -
(1) HS (2) g " () 1q @/IR
—a%
60. The letters of the English 8lphabe are coded as follows: () \% -
k't Jetter of the alphabet is coded gq \'/ YG‘. O
9 o-

(1) (k+1 7)th letter when | < k<g
(i) (k-1)™letterwhen10 < <18 \py\%

(iii) (k-18)*letter when19 <y <26 % _/P,-\gé
For decoding reverse process ig used. ‘ \

The word that is coded as GAURD ;g
Solf SESErOSN OO0 & BoB isorn &5 vt k5 K08 6 ®gbo. A Q_ Q
0 ol

(i (k+l7)é$§50. 1<kc< 9@‘333?6@53

(i) (k-1)3 500,10 <k < 18manszys Sy 8
(i) (k- 18) S 580,19 <k < 26 BANSHE @%
85 Babre08 5,885 558 oo, |
GAURD e &% @Pcﬁaa)&aﬁ Stso

(1) YRCQU ((2r vspav (3) XRDPV (4) YSDNA

61.

In a code language, ‘Mathematlcs Improves Reasoning’ is coded as ‘du mu vw’; ‘Reasoning
improves logical thinking’ is coded as ‘vu lu du ya’ and ‘Logical thmkmg Improves common
sense’ is coded as ‘ma ya du lu ta’ then in the same code language ‘Mathematics improves
logical thinking’ is coded as

o8 B8 et ‘Mathematics improves Reasoning’ & ‘du mu vu’ ®9; ‘Reasoning improves
logical thinking’ & ‘vu lu di y&’ ©® ‘Logical thinking improves common sense’ % ‘ma. yadulu
ta' o EE T , o3 88 grist ‘Mathematics i mproves logical thinking’ % &8 30s5pi £33,

vulumuya * Y (2P tayamulu

@\/dan;uyam (4 s

62.

In a certain code “Write exam well” is written as ‘Im rs ek’, “All is well” is written as ‘ek

jp pm’, “Exam is easy” is written as ‘rs jp wk’. Then using this code “All write exam well” i

written as

e.5 B grie® “Write exam well” i ‘Im rs ek’ re @& “All is well” & ‘ek jp pm’, e @&
“Exam is easy” 9 ‘s jp wk're @rarth. £ 88 e7i6® “All write exam well” % g% $8)0

(1) ekrsjppm @Jekmh:apm.

(3) wkjprspm (4) ekrsjpwk




. 7 & “. -3 —-Iaw
63. Pointing to a man in the photograph. A said, “His daugthepg mother is the daughter—1in
?
of my father”. How is A related to the man- s
(4) Sibling

(1) Sister-in-law  (2) Brother-in-law (3)  Spouse %5
2. USSP 2.8 $AD BT A B OTYD. ‘0B LR s, $9 e S0l TV ghien”. & 558
& Ko Somolso. _
@) ses (2) &3 (3) doserram (4 oD

64. A is only daughter of B, C is husband of B, D is father of C and E is wife of D, then A
isrelated to E as

| (A?)/ Grand Daughter

( 'l) Grand Son (2) Daughter-in-law (3) Uncle
HESH A& K

B @) S3¢ Kréhoth A, B @%) 856 C. C &gy S0 DHbaty D Gingy o765 B. ©3fp

Soaoo.
(1) S35 (2) St (3) S @)y sossoren
65. If‘B’means‘+’, D’ means‘x’,‘Q means‘+ and ‘R’means‘~* then 23Q19R24B2D3= Q;\%Jr Uk
Brewod =, ‘D 008 %, Q o8 ‘+ 56 R’ @08 — wand 23Q19R24B2D3= M -\
(1) 22 6 (3) 12 @ s (4) 17 TL"&J
66. Thesymbols used to represent <, #,@‘) >, < and = are respectively A, B, C, D, Eand F. Consider
A

the statements PAQ, QFR and SER. The correct implications from given statements are
2.4 % >, < 5B = 0 ZSm A, B, C, D, E5H8ci F ot sedoms. PAQ, QFR %5805 SER &3

BSSToH $6800508. 58 BSSToL08 $3) SO SomyTren
(4) A PAS, PCR

(i) PpsRecP (2) PES, RBF (3) RBQ,PFS
o o ik va p Fa il O v 3
BLCE IS (S pEvey U e .
67. A series of fractidiis that follow a definite pattern is given below. Fill the blank space by the
correct answer from the given 4 options to complete the series without breaking the pattern.

BolS &S PTmen &8 Edegsoond NahErd) Sk . B&° 20y% 5o, ad)S wrenrd d e
5008 56 @00 arani JNE"R @5 B AdHErIS oo Eorithorr JrboSod.

4% 27 & 216

2510 17 37
Iy 125 31 3y 125 4) 121
26 23 ®) 3 ®) 5

.-w'; -
68. Whatshould come in the place of question mark ('P) in the following alpha—numq.fc gﬁe{i : Q
BB oEE Soars B’ H4) 104 (7) X6’ DB Trsed dot’ §%8508 ? 2\ )

B3E, C5G, E7K, G11M, ?
(1) Mi15Q .(2) K130 @ K13Q (4) K158

A

69. Choose the correct option which contains the letters that are to be placed in order in the blank

places to have a complete series
B8R Sodgrgo Babmil, srbod® SR oS BIf o o S8 ni)sY JknEol.

Z T NKH B -
(1) X,RE (2) WRE ﬁ){W-Q.E (4) X,QE &
[

16




70. SMectthe re = ’g; . ) | §
Blverral

SO PEegEmETe $H0B HoRos g ternatives. L\ %3

O \ =

444:21::964: s B g
@/31 2) 4 L5

4) 2 W=

%“W — (3) 24 (4) 29 > 6

\
%‘7 1. Four pairs of words are given ip t y ; " : "o 8 i
way and one is odd (different). Chhe opionsbelowinwhich thre palrereaine i s ceriin

7100se the odd pair.
ij"}\ BroN E?\'.}JS‘EJ&G a'aaé Feid a3eley TPyt Sootls pben 2% @méﬂg_éaﬁ ﬁﬁ"&_ﬁﬁ. 2 588 3&:‘6&0”” Aob.

;CZ\ DDy &) e DxinyEol
O~ / A\( 1) Short 2 10ng (2) nght . Hea'vy @ Cnme : Blame (4) Poor: Rich
w __‘-‘-H_‘—‘—\—_

=

728

x-ﬁmnng the given numbers 13 1,151,161, 181,191, one is different from the others in one way. It

18
20
aﬂaﬁ,ﬁ@ﬂa@?&/l o1 '5\?1,3&-9% 06" 258 ADS B DPKOMT doknod, b
) Bl o v 2P 181 G) 1614 (4) 191
£ £ g

73. Choose the odd one gut of the four optiong given below.
% 8ot cnyd TPenih 0o’ HADS 8 %08 Do &y A knEhod.

V21T @ N15L (3) I8G (4) E4C
74.  Choose the odd one out of the four options given below.
(1) Earth (2) Water B~ Fire @{) Environment
808 DS Tenrd oD)TeS® WADS T8 Kol VP[0 &) TV dinsdold
(1) & 2) 5 (3) ofy (4)  Soegssmo

75. Choose the correct option whose group numbers follow the same pattern as that of the
pattern in two groups of numbers given in the question . i
B8 ad)S Botd Somge SamHFost Somged FBoT Bir) FBoB Jomgeni) SHrHEY pdFe

é?gﬁaaisﬁoé.\\
11:121:110 :: 15:225:210 :;
W (1) 9:81:70 * (@)).19:361:342 (3) 17:288:212 (4) 16:225:239
f 4

\

Choose a term which bears the same relationship with the third term as the first two
terms bear.
58 Both HTPe $ot; Jerold Homolinol ©Lol $orotrR) Huris Hiio8" SOAS TR dkyEiold

Stag: Hind :: Ram:
Ewe (2) Hart (3) Earl (4) Heifer
77. Choose a term which bears the same relationship with the third term as the first two
terms bear. _
Snts8 Both Hore iy Jerol Sonolinots ool SonoTrR) SrK H508 SRS Hord)y dknElod
OPQ:PRT: FGH
(1) GIR () oL &) o (4) EDC




relatiOnship similar to that in the pair

78.  Select the pair from the options that has a
labelled (A).
=1 (A) 6‘5&:?64 Sowotio erod Soworri) SDAS a8 o), ool aﬁnﬁsoﬁ
(A)
» Ol » OO
B
: sy &
79.  All the faces of a cube are labelled with I, II, III, IV, V, VI one on each. The 3 positions
of a cube are shown below. The face opposite to face containing I contains :
&8 s o) ) Sopoen BTV a8 8 LIL 111, IV, v, VI &° DBoSBAK. & Fod%n
o8y 3 Deoew & Bod Hersimes® SrHndSd. T8 &%) Soninss dotorr aod Supin D acds
' II 11 \%
1 |V i Y n |V B
@ VI (2) IV 3y 1 (4) v
80. Ifa cuboid of length 81cm, breadth 27 cm and height 9 em is cut into 729 smaller identical
cubes, then the length of the edge of each smaller cube is
(1) 1em (2) 3em (3) 9cm (4) 27cm
8120. . 0 K9, 27 0. 5. 0 BEen), 920. . © D Ko 2.8 B eRy 55 Skm o &y 729 9%y
DT DL 0.5 0 G ot K,
(1) 120.%. ( 0. . (3) 9%o0.%. @ 27 %0. 8.
(})/ i
81. A Solid cube of 4 inches edge has been painted with red, green and yellow colours

such that each colour appears on a pair of o

4 ®obere ©oH Ko a8 HE DS Qws) 5B WPBIVOP A5, V2B, DY Sorben
Sovadsd. 1 worEo wo Ke ) R0 © 5K podomds. oF o€ S0P o Bork

BOA e.8 ©orhto Huddme Sogy,.

(1) 16 (2) 24 ) 8 4) 32




82.

83.

84.

In the question figure, assume

amj . the line MN, then the option among the
answer figure that shows the o, " 5 PLaced on

%) Howe® MN S D %0 g0, ) .
° V& 3 D&y s mo:o:é '\938&05305,.: Sehod
pd)sre 659 Sk, D808, 6D & Dedn )
N

Figure (A) is given below. One part of this figure is missing. Choose the missing part
from the given four options.

Db0 (A) Bois aynlod. 8 DO & Ko erBise (missing). & e &P & ok 2
Fooih D 5re Hol J¥nEsl.

\J

4
-~

Fig (A)

(1) a\m 2) E\:.‘ |

The total number of squares in the figure given below is
& 8ol BD)S HOINS®Y Iwgo SHERRe Sowy.

32 (2) 42
5 35 (4) 45




85S.

if triangle represents Cricket players, circle represents Football
ts Hockey players and rhornbus represents Tennis players, then
of players who can play al] the games except Hockey and

In the following diagram,
players, rectangle represen

the difference between the number he fi .
the number of players who can play all the four games jg equal to

Ao |
O - Yoo
T- ¥ G
{T} - o Lﬂ —
BN = . A=

(1) Number of players who can play all the games except Tennis.
(2) Number of players who can play only Tennis.
(3) Number of players who can play only Hockey.

(4) Numberofplayers who can play all the games except Football.
D Hbos® @abeso B3¢ storre)d, Sydo 3 S ShreEh, &g S8R0 e ey faSelenvy)

Sdeon SEH8e0 BYD BLTEH)D B0 58 B WD &R e siKe sbrre) Sopsk, Teen!d
sber sk ebrg Sopg Ko Bo :

(1) BAS 8% DADS 6y vben eisKe soree) Soph S5rko

(2) B0 BYR SrED sile eorry) Soms Sdrso

00 558 SrEsh siKe storre) Sopg S5rdo
) S
@ RE 2 $5) DADK o) etoen siiiie sy Hogy S&rso

86.

Identify the venn diagram which best represent the relation between tria{gles. equilateral

triangles, right angled triangles, isosceles triangles.
Babesdiven, $oerT™ Babeiven, 0ot Bibaknen, HibBrsm BEhastne S donomrl) KredoD

OGN R Hedwd HoSod.

o (& o (&

@ o (08

e

7

Aranks 13 from the top and Branks 17 from the bottom in a class. If the rank of Cis Sranks

below A and 5 ranks above B, then the number of students of the class is !
2.8 S8186° Aol 1385 .Q::ﬁoészﬁ:ﬂ 0Baw B8ob ol 178 3;506%35 8. C Gy, 3:160 A8

S paren BIHSS Hbaiy B8 5 Q:a‘w AOBS 608, © SBKBSED AT sEo0 Sowyg.

@ 39 (2) 29 (3) 19 () 30

20



>} . lawgen,
Ly w0 WA

88. Agoes 500 metersstraight fir D el S
Ol‘n x bl - 1 §
11 km after furning to hig . his house. He turns to his lzft and walks 1 km. He thergoes

vy VO

'8ht to reach his office. If hisffice is located in North — East

and the shortest distance fr. ;
South — East, 2 km oM hig house to his office is

3)) East, 5k (2) North, 2km
) e (4 West, J5km

3
R el ARG SN0 2E o b it 5 B0R 08t 18. . S, © Sk

8 % 1
SOA3B T 800 085 118, 3 44 ST Bbotrts, 30 TR0 $5 50 Hol

S5 BES” 0l), 85 208 H08 A Susogost 5 ¥et DAHBES & B BB 5 508K 55
STTR50dirR8 e ¥R drdo. ’

(1) Qﬁld‘bo,zg.h). : (2) a§60,2§.£b. g.@'

(3) &rtiy, V5 8.5. (4) &8, 5 8.5,
@ 6 Students S, §,, S;, S,, Ss. S¢ wrote an entrance exam and the following is the information

regarding their marks. Sum of the marks ofallis 1000. S; got more marks than Ssbutless than
S;.8sgot the least marks among them. 400 marksisthe highest mark and 60 marksis the least
mark among these six students. The position of the student having highest marksis 1 and the
position of the student having least mark is 6. If S; got 400 marks, S5’s position in the list is 274
from the last, the average marks of last 3studentsis 95, then the total marks of S, and S, is
6758 5gen S, S,, S5, 8, Ss By Sgen 2.8 HIE H0Y @rRrt. B Sy $oohos Dkoren &
0 BIOSS amdd. ol &rtye Jogo 1000. S, 8 305 Ernen 8, o8 Moy 5D S, %ol 843,
5 0 ©0H8%0E Sq BEH Lrtiyen Sromet. & 6 Hodst HOQ Sreden 400 Sobasw B Hrdoyen 60. alexe]
2

direction from his house, t s —
hen the direction in which A started moving initially from his house S

B0 Pl DR Ao 1580k B S50 0B DI A0 6. S, 400 Kre8yen 0B, S5 DS
K08 BotS FpiSeind® 1ol D56 HnrHB OB Emsoes 95 wond, S, $8ckn S0 ando Srdnen.
(1) 225 (2) 185 @ 315 (4) 200

90,) A, B, C, D, E, F are sitting around a circular table in a park. A and F are facing the
: centre of the table and the remaining are facing the direction opposite to the centre. D
is sitting second to the left of B. F is sitting second to the right of A. There is only one

person between B and C. Then the person sitting to immediate right of F' is
&8 g $506° Ko e HoEd g Htap A, B,C, D, E, Feo &r8°)0 dimy. A 080w F eo o Somes

©DEDPOITE, RO o8 BorrRB ST B ©f Eoporrss §rehD e, BE dikdh B
65,8055 58 D. A8 %A 35 &y Fotsd %8 F. B, C o5 8500 .8 $8 £ ey, oo F
HA S [?)é;ﬁ B85y S8

(1) D (2) B (3) A (4) C

T ooy he
rsons A, B, C, D, E are sitting at the corners of square shapegl garden and oneisatt
gel::;re. Aisadjacent to C; B, E, D are not onaline; A and D are equidistant from C; A, E, D are

line. Then the persons sitting at the corners are
?33232@5255 63 H0)5 exaHen Koo $ 0k St S0t Sghen A, B, C, D, Een &rdymey.

O A% @S Camyd. B,E, Dev et 8p p8; A0S0 Den Ch e 806k sy, A, B, Deves
6‘@ Bt 0D HDE whHen Hwree S Erdd)H) o
(
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91.

1) A,C,D,E (2) A/BCD (3) B,C,D,E (4) B,ADE

cnnfO‘E i zrl & Pl P4



92.

A E e I%Q\J_I:__\_L'ﬂ Sagy KT ‘([-E;‘
R?B 79!

then moves a distance of BQ meters

he distance of its final position from

A Person fa cing West moves 30 meters towards Wesjc and
North and later moves 30 meters towards West again, T
the starting point is

(1) 90m 2) 85m . (3) 1004 (4) 105m

3 Q550 oSy a8 5558 30 Doeotdd B B AN e 8bares 80 Soentsy 4850 THKH BAD Hoer

(1) 90&. (2) 852, & 1008, (4) 1055

93.

Each statement is followed by two arguments nmand II. Decide which of the
argumentsis g strong argument and whichisa weak argument,

Statement: Should there be blended learning in education system ?

Arguments: I.  Yes, This method allows students to Work at their own pace, ensuring that

they fully understand new concepts,

II.  No. Possession of electronic gadgets in classroom and access tosocial media

diverts most of the students from the actual concepts and lessons.

E 1) Onlylis strong. (2) OnlylIlis strong.

3) BothIandIlarestrong, (4) BothTand Il are weak.

8 B5550 Jow I, I e B0 Botd mrEben QOLraD. @ 506t D6 poRSEr, H6 2ofrSRHIek
B0,

EYE
NS0 : 335"5&5§§§e55 ORE 88100 soSedsdoe 2 E:%ﬁ
T3 I o9k, & D8 BF rSKeoDH PO edmirs SsSSmad FE P, Dewgoen
TFOPE® weRoSmRR, OBZ0H.
IL sh. $618166° dopd8 mass $0n et 9, FPRdHS dlatr Bodotto s
3 Trer HHod TS0 08 SHORS ey, Fvee Hr08 6 K8 DHB)Jrom.
(1) Ismesd SERVEEA - (2) II S wesHmse
((3) 160 Hen Both med@med (4) LBk Ien Both wedrs3sd

4.

Each statement is followed by two arguments numbered I and II. Decide which of the
arguments is a strong argument and which is a weak argument.

Statement: Should there be high level of violence in films in the name of entertainment?
Arguments: I.  No. Exposure to high level of violence causes behavioural changes in

human attitude particularly in children and youth there by developing
criminal thoughts in mind.

II. Yes. When the story demands the film makers have no other go
(1) Onlylis strong. (2) OnlyIIisstrong.
(3) BothIandIIarestrong. (4) BothIandIIareweak.

8 @BS55%0 oo I, I e Sl Both ariben dotraw. 8 BSOS D8 DODIE, Do ewﬁ:“-‘f:@:é@i"
ABaoTP.

BS5SK0 : DPBoDLHE® BYLreE Eros ©E;08 Frond® aotdodoBR?
den: I Bth. o0y Pond® &) IR0l &5 esmEEe*as TEtosey rSJpdS®  Kwpgorm
DRED DO s FpOS® HES DS SEEROTn FoHotran, oD $o 0
D85y B0 w6t Sigen BotsEemon.
II. 0. B85 08555359 Joe ot 38 ob dotith.
[ S @D oSt (2) I S wegnss
(3) IBaso ITen Botd woBisd (4) T&Baw ITen o DORERKD
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95. In this question, a statement Which is to be taken as true is given and it is followed by two
. 0 - - -
assumptions numbered I & 11 Decide which of the assumption (s) is (are) implicit of the

statement.

Statement:  An instruction g, the hall ticket for a competitive examination is “Every
candidate ‘has , be in the examination hall before the examination
commences. Not even alateby 1 minisallowed.”

Assumptions: 1.  Ifnot Mentioned in hall ticket, candidates may come to the exam at any

time as pey their wish.

II.  In a Competitjye examination, every candidate should be given equal

chance of Writing the exam so as to filter the meritorious students.
(1) Only assumption I is implicit, (2) Only assumption IT is implicit.
(3) Both assumptionsI& IIare Implicit, (4) NeitherInorITisimplicit.

& 808 B¥8° D grDoSKONS ek BS880 ol Joad Bob arsten dotrow. D gPSS () &
BBSH0S° rASEE /orASS 1980304,

BBSN0 : 2.8 S BOY B0y TS B3 P Ko o5 mer HoB. “HOHE Fnthen PSHI_Enod ©8 ©25s0
H0E KBS* 80mD. .8 Vs sy Kre ©HBOND”.

Piten: I ed@abblls, ouhes 50 adpndrto d SHahEoet s SEED S8
IL % 288 5856° %8¢ Ko OO SEE OIS $8 v B8 HBY Erabmdd  KEmS

OISPF0 BHHOD 4008,
) IsrgHonaos (2) TI$rEHhoh aod
(3) I, IIenBokr oeh daeyom (4) ISee 16 weA aotth

96. In this question, a statement which is to be taken as true is given and it is followed by two
assumptions numbered I & II. Decide which of the assumption (s) is (are) implicit of the
statement.

Statement: The national education policy brings major changes in the education system.
Assumptions: I. Present education system is not supporting the needs of the nation.
II. Present education system is teacher centric.

(1) Onlyassumption I is implicit. (2) Only assumption ITis implicit.
(3) BothIé& II areimplicit. @\ Neither I nor I is implicit.

& 80D BEE® D) grDosdORS a8 B0 R Joal Both S dotraw. O &S () ©
BIS508 rASE /eASS KHdosod.

B850 : Dors Borfos® erbad Huy Derio BB Srdyeds 8% Skod

PSsen: I BE ossoremh ke vy eriko 88)t0 Bt

I advmrcthotd Boglorr @Rl Duvg S5 59 BRkod o
(1) ImEdoeh dobd (2) II&meEh oeR aod
(3) I, 1IenBotir ooh éamyom (4) IS I1D8 A ok
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97. Directions : In this question a statement is given followed by two conclusions that can be
derived from the statement either directly or indirect), Or may not be derived. Which
conclusion (s) follow (s) from the statement ?

Statement:  One of the prime ministers of India said, “Wastage of anything is crime.
Wastage of food is double crime.”

Conclusions: I. The issue of food wastage is of high Importance to fight hunger, raise
income and improve food security in India.

hungry simply because they have no f; .
(1) onlyIfollows. (2) only IT follows.

(3)  BothI& II follows. (4) Neither I nor IT follows.

OO e HBoSod.
PSSS0:  erssdFo Q) e¥ HErd T, “320@5“ Sy Sahko Io. 85T, e Sahko
Bégo‘é 80",

8opren: I gessddost o500 aawosost, STARY DOBLS® SO @S FESEs
DOSEOS® 6T BT B0 ©F 8080 e @S85 5D dod.
I ey S0 oo e S8%o 8 oth¥od eo B smor

TP D08 Hesen D0 0T .
1) T5mEd 0536508 (2) Isrsd ©:538%08
1& ITen o 036w (4) I& TenBorkr odokboss

98. Directions : In this question a statement is given followed by two conclusions that can be
derived from the statement either directly or indirectly or may not be derived. Which
conclusion (s) follow (s) from the statement ?

Statement : ‘Marriages are made in Heaven.

Conclusions: I Itisa divine power that ultimately decides who should marry whom.

II. Marriages are made in heaven before the couple even meet on earth.

(1) OnlyIfollows. (2) OnlyIIfollows.

(3) BothIé& IIfollows. (4) Neither Inor II follows,

ArSSen : 8 HEE* L8 GB350 Jond Bots B0 jmen BTGP B3 © ESSK0 Do R&s¥ore S
58*gorr 58, boeyen S*5i0) Bor 5550 08 8y Soren YD), D Bomren GE5S S0
©DSOPREr HBoSol.
B38%0 : Darien S0t miorberaw',
borpren : I 86 D560 Derirsrme® wobom AgawodB &8 Ps¥s

IL &8 esots ¢fei P BoSES008 $5806° 0 Darisben 8BA dotray.

@ [ Srgd ©i08:500 (2) Isegd ©:0%0:508

(3) I& IlenBotim wisisban (4) 1& IlenBottr wibonsbossy
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99. Directions: Decide whethey the g, o _ _
issufficient to answey the questj, :Drowded 1n the two statements given under the question
- : T Not. Given option
1) ifthedata In statement P
E 2) ifthedatain statement ila %€ is sufficient to answer the question;
(3) ifthedatain both the st Ohe is sufficient to answer the question;
a :
. . ents I i i . wer the question:
(4)) ifthedatain both the Stateq, & 11 togetheris sufficient to ans q

NI & 1T together is not sufficient to answer the question.

Is the product xyan irrational Numbg

1. X s anirrational numbey
I yisan irrational number,
reSden : s @%&&?ﬁa’)?{) B Boy 1

R P N s HEE 6 Q) aNTEO8 SASSE
S8 Rbgcmoéo&.. 2 SR T TR

SS00 Li:a’aﬁcﬁo I 6% sisraeto PSS B S Smrrstn SR8 8RB (1) od);
8500 BBt 11 &89 QT80 S, D Skrredsn BRTI8 SASZE (2) ed;
OB B SErgrdim 8o’ BASFE (3) eod);

05530 I & Mo ssmanso SORT B3 Stpesitar BHTR8 SNSDED S (4) o)),

D 00)S*R) 00 N0a .
080 xye.d E8eBad 50&),3 ®)oe?

It x a8 88d0% Sogy, o
II: y 2.8 85eas Som,

100. Directions: Decide whether the data

provided in the two statements given under the question
issufficient to answer the question o

r not. Given option
@ ifthe data in statement I alone is sufficient to answer the question;

(2) ifthedatain statement IT alone is sufficient to answer the question; -

(3) ifthedatainboth the statements I & Il together is sufficient to answer the question;
(4) ifthedatainboth thestatements I & Il together isnot sufficient to answer the question.
What is the perimeter of the circle ? _

L. Thecentre (0,0) of the circle is at a distance of 5 units from the point P (3, 4)

II.  Theimages of P with respect to both x-axis and y-axis lie on the circle

RriSSen : & DHBIODS aDyS Botd WSS’ &3 Hrarso ¢ B ST, sbweds sass
& QBovosod.

$500 5550 T 6°0 Siimamo S D BT B8-08 81538 (1) wb;

S50 55550 I 6% Si5mamto Kmised B SEPTEin adwRs Sr5p8 (2) eb;

B850 1 & IT0E*D SxmarEo 80D ()% SErtrEin sSwas $h538 (3) wd);

5550 1 & 1o $5r a0 SO (S5 SErrsin w08 $A50s828 (4) eb),

& 0yseR) rHBoSol.

$)8 5068 Qo ?

I.Las.,e;’ oo (0,0) Botissd P (3, 4) 08 5 ey iﬁ:oéoé‘ o

IL x%8dm yeogre Syap; P o) @8foeren HyEop aotron

"---..___________
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101,

Arrange the following important events chronologically based o, the Muslim separatist politics

(a) Deliverence Day (b) I—:Utknr,w Pact

(¢) Direct Action day (d) F"‘tahfiﬂhmﬂnt of 'All India Muslim League’
&?&DM'W oraddhsived® & 8ol E&DLE&’DQ.;:} é”%aut.ﬂ_ S5 SrHmessn M 5% S

(a) BOSBSH (b) 55‘,‘&.;’;‘.;:;‘;

() @ty c5c5 tow () ®Sacacrcno br Som e

(]) (d) (a) (b) (L) @ .{'f_]‘: (h} (a) ((.)

(3) @) ) (c) (a) 4) @) () b) (a)

102.

____-_\_-_""—\—-_._,

Which one of the following Opinions on the na ture of | g5 Mutiny is not correct
1

]

John Seeley: “The Revolt of 1857 as a wholly Unpatriotic and selfish sepoy mutiny with

ﬁo—madership and no popular support”

(2) James Outram & W Tayler: “The outbreak of 1857 mutiny as a result of Hindu —

(3) RcC Majumdar: “1857 Sepoy mutiny was not A war of Independence There is nothing

(4)  William Darlymple: “It is a conflict between civilization aﬁd Barbarism”

1857 mmmga@oa SO D006t D8 56 wans e

(1) orl 88 1857 dtbrommes d¥ey dn, PGP0 B o Bhrbees 6n Ans Bbctoe;

DB S5 570 HerdsmmD dg,

(2) d%)zeo 0 e BeB: “1857 Borbaris Ol Suhoo QwE) Dt SEEIvEd
(3) o8 & SaromB: 1857 Bdvave BEDE T80l Forto 5. mohe® IS bdrane
BSGS ™D 68 8 d¥o O PO, SrdyerD D3R DS 08 Forliey o Bk

RSB0,

@ ma&omgoaé:-'mﬁosséaacﬁnm-nommmw 1857 8toroeren.

—/5——__

103. Arrange the following Political Associations chronologically based on their inception.
a) Indian Association (b)  Poona Sarvajanik Sabha
¢) MadrasMaha jana Sabha (d) Bombay Presidency Association
& Bob oresat Boigerso 89 @ EoBodss RosE)8o strEorm SirbRoetinm i
(a) ®moBdnSeRnchiyS (b) &rae ;s vg
(c) Soprid Sssbess ses (d) eroBRhad, eRsnchss i
'EXY:
3 ¢ d b a 4 d c a b
[04. Who among the following is not associated with defence of the ‘Indian National Army’

prisoners in the Year 1945 — 46 2

(1) Bhulabhai Desai (2) Jawaharlal Nehry
( 33 Mahadev Desai (4) AsafAli

& 800 06" 28t 1945 - 46 76 BoAALS 5SS 06 B © s TBODS ot

PHPEngn 5o

(1) ¢rergrandera (2) eS8 od e @) s=dsdew (4) es5ebd




105. Thehot & dry wind which origy,

(1) Sirocco esin Sahara is
$ihor D006 st S0baty N ::V(‘-che (3) Chili (4) Loo
O ey (2 a0 0% &8,00%
. ) 30t (3) ob (@) o
106. TheMediterranean landsare also ey

(1) Orchardlands Wn ag
(3) Evergreen lands (2) Dry grass lands
SEET® e Sne CHENY — (4) Nomadiclands

=Teie) ; ;
@ 00 &dwen & PR
(3) R88:508 stmgoen

(4)  B%he grsmes

107. Tlh)e Plgne_t that takes 88 days to Make ope revolution of the sun is
( " upiter (2) ars (3) Mercury (4) Saturn
& RS e BBA P08 88 Beve Kitratrs BSPE0% Hto808.
(1)  e=e5 (2) 36y

\(‘{L 5)633156 (4) %2
108. Which one of the followi

ng is the source region for the formation of air ma;
(1)  TheHimalayas

sses?
(3)  The Deccan plateau Eig %z g&ﬁﬁgi:ﬁ?st
& $ob 86" aratn ceenre DEWETVS Ko wgei Food,
(1) trsredire (2)  erBKBe obd Sosse.
(3) %% beeteay (@ 2bocswSs o
109. Sub-tropical high pressure belts are alsoreferred as ,
(1) Doldrums (2) Wind convergence
(3) Horselatitudes (4) Frontal rains
ed el Tneos bus Dyeren 9 D&, 0trow.
(1) d&ye reves (2) arcHe oSty
@B) e ogosvs (4) =ey ko0
110. Tropical monsoon forests are normally
(1) Evergreen forests (2) Deciduous forests
(3) Temperate forests (4) Mangrove forests
$CHBe e0BSS o FErsEor S, |
(1) %88 SrbESegioes 2) o8 os0
(3) wsxobstsores (4) Sotden

111. The predominant vegetation of hot deserts is

(1) Xerophytes (2) Mosophytes  (3) Hygrophytes  (4) Hydrophytes
©88 Do’ Himpsor B8 H0%HL oL,

28265) (2) sy (3) DS, (4) &Sy
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1 12, Karewa Soil is known for the cultivation of
(1) Citrus Fruits (2)  Floriculture
(3) Coarsegrains 4)  Saffron

¥3a $50yB5e0 o SHAPAODED.

A1) Doy H0efosDoD oK %) o D
LB spo g 0 (4) Sowso09s I
113. Namchik Coal Mine is situated on
(1) Meghalaya (2) Assam
(3) Arunachal Pradesh (4) Tripura
SEERKSe P SoFepasd 2
(1) DFrocd (2) 0
() otwsssds (4) @58
114. The Konkan Railway transportation was started on
(1) 15%August1996 (2) 15" August 1997
(3) 15% August 1998 | (4) 15% August 1999
So¥R BB Saver 88 7ot @r8odosedod
&y 155 esriy 1996 &% 155 e 1997
(3) 158w 1998 - 155 eridp 1999
115. Theboundary between India and Pakistan isan example of
(1) Superimposed boundary (2) Subsequentboundary
(3) Antecedentboundary (4) Relictboundary
FPEEBE0 SHBAM FEPR © Bty Ko RO arrdrdes_
@ asoxg S8 (2) &8558 SBD
(3) o0 R0 (4 $6BEEOMS
116. Which is the largest Physiographic division of India ?
(1) Greater Himalayas (2) Greater Northern plains
(3) Greater Indian plateau (4) The Coastal plains
OBLEEne® odRE S DZBODANE) FBY Hoeo b ?
(1) S trsredhdnes (2) w)8 a8 Dredtnen
@, 0S8 a5 Ssam . (4) 88 Prrddnen
117. InIndia Multi Mode Transport System (MMTS) was started on the
(1) 9" July2003 (2) 9™ August 2003
(3) 9™ September 2003 (4) 9™ October 2003
PEEBEEE® $ob 38 Saveesr SFFH _ oe @rodoarthd
(1) 92#82003 @) 96y 2003
(3)- 9%powb 2003 (4) 9e8e52003
¢ 28 B
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118. Which one of the following g,

(1) Bihar a8 the lowest Human Development Index ?
Haryana
(3) Himacha) Pradesh Ei; . :j’ab
u
& “ )

30 b:;m&é orgves® ©80) g 05,6 5205 (HDI) $0n% oo,
B) srss gds (2) oo

- (4) So=d

1 19' Which part. Df the ConstitUtion deals Wltrh Amendments 9
CPEON0E5D & ek ot D58eae oBogs SErT8o dotnod 2
(1) XXI (

2) Xx @ XX (4) IX

120. Equal Justice ang freelegal aiq are partg of

(1) Directive Principles of St

ate Po]icy (2) Fundamenta] Rights
(3) Fundamentq] Duties (4) Citizenship
R T30 BBk &8s 530 BB %0 w1589 808 86° B8 ozioBonsD.
P8 Kviger (2) @rs0% TEen
L7 &5m8 aises

(4) a“fﬁééso

(1) Lanakla Ladakh

(2) Bomdila Sikkim

(3) Manapass Uttarakhand
(4) Shipkila Himachal Pradesh B
8808 BE° 56 waws 285200 DB 2

SRR T°Qw / Bo.e.

(1) es8e o8

2 & Qe &80
Q) IR agoeyol

(4) 258 LSS HBS

——— T

122. Which one of the following is the most urbanized state in India ?

(1) Punjab (2) Gujarat (3) Karnataka (4) Tamil Nadu
© BoB 86" 08,0850 kg Jobs o 06 ?
(1) Soe=s (2) Kewoed ((}j/ Slepl @ SDETH
———
123. Centre for Arid Zone Research Institute is located at
(1) Bangalore (2) Ranchi (3) Jodhpur (4) Jaipur

B Sotie Sogs S0 o3 38 SoTowAss.

(@) Borers (2)° 00 @) &5 6 (4) B&S
€ - 9
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a village comprisec

rsons registered in the electoral ro])s relating *

“ 1 t- Ofpe i 2 3
i A b(-)dy}:nnsma loli'gpancha)’at at the village level” 15 called
En)thm[;s e ér: (2) GramSabha
1 istric 4) N above
(4) one of the K 2%

t Area
(3) Panchaya & 3@5 @vaﬁooée A0S STy DA Flotsr &P

“rd ‘Booeabd o

S5 HFootrdd ?
3 @ o 88 (3) éomdﬁw/

(1) e
gin India ?

125. Inthe formatofParty competition, which model is currently workin
(1) OneParty dominance (2) Bipolar competition
(4) Multiparty competition

(3) Two-plus competition
3 egentos®, BR80 BB o O Grdo OB 7

e Sots; R0 wgo SRV
(1) o%>beass (2) ot rbe 2
(3) Both Bor oS8T HEY Dbo S @ oo ho ol
ge of six to

126. “The state shall provide free and compulsory education to all children of the a

fourteen years in such a manner as the state may, by law, determine” is part of
(1) RighttoEquality (2) Rightagainst Exploitation

(3) Right to Freedom of Religion (4) Right to Freedom
“6 ol 14 HodSre weo rdiod SHANOe Do WO 408 Bl  DBF»

©oBoTD” ©3 SrSS & Bod AS® B8 $6DE0b.
(L) S&md8s 5, (2) SRy BT Sy

(3) Soe8 '5}5753 S -V)) @ '50553 5,

127. “The citizens, men and women equally, have the right to an adequate means of livelihood”

was mentioned in
(1) Directive Principles of State Policy (2) Centre-State Relations

(3) Federal Policy (4) Fundamental Duties
“PhHe, O™ DS DO foo Ssredore, Sh%ed SSPIED Fod HEyH EOA

AT5” ©0 O8) K amrrboseadod ?

6388 SrEeen (2) 8o oeg Komogren

(3) ssrwydoeso () @u8 e

128. Parliament means

(1) The Lok Sabha | (2) TheRajyaSabha

(3) ThePresident s (4) Alltheabove

PEDotn ST

1) &85 2) ooyl &
(1) 5¢ (2) oresges (3) ogs é N

30



129. Which sector does contribute the

(1) Service sector n""‘:'5“-1:'IncljamEc:c.nomy? .
(3) Aericultural sector (2) Manufacturing sector
4) Small Scale Industrial sector
MQﬁWhﬁoﬁon&;&gng‘ m( ) Sm
@ Ve BoKo .
JB) >absorio (2) Saeb Soro

i —— (4 og a8 60 soro

130. Which type of unemployment hgg the .
m x . .y 9
(1) Seasonal unemployment, “rginal productivity of the workers is zero

isgui 2) 1 1 t.
(3) Disguised unemployment. E4§ Sf::l\:nta;'y unemlp oymetn
c oyment.
D BED NOE e 1o adroi o . ural unemploym
méb;’;d@;()haﬁjss A58 Koy w208 2
e i (2) siosnacing
(B)) &5 ne 2

(4) Qoogmss N&Eo
__-_""""'---...____

131. Identify the Non-Constitutional Body.
(1) National Human Rights Co

e - Mmission (2)  Election Commission of India
(3) ational Commission for SCs (4) National Commission for STs
& 800 >86° oremsorisys $og 08 ?
@ 8D K5 0 Bodvo (2?/966 e Sosko

(3) =8ab s Here Somo (4) =B nsrsS 8K Sovo

132. “Deen Dayal Upadhyaya Grameen Kaushalaya Yojana” is part of
(1) Ministry of Rural Development
(2) Ministry of Social Justice and Empowerment
(3) Ministry of Communication
(4) Ministry of Micro, Small and Medium Enterprises
“BS BarE &rgrson (e S0 Bress"oe’ grKo wHEos ?

(D 05,8 Ho@s; =y '

(2)  Furegomabo 00t Psoons H088 e
(3) %%mrors OB oy -
(4) g, 0% o8 D5 BB S0E S0 Ho@Es T

133. During which five-year plan was phase of heavy industrialization initiated ?

(1) Second Five-Year Plan (2) FirstFive-Year Plan
(3) Third Five-Year Plan : (4) SixthFive-Year Plan
& S0y sl b 5B HeH Srsodost ?
(1) sor somssg sare (2)  ors oS e
(3)  sorts BoSSY Hearbs (4)  o6s Sossy Serbs
C P 31
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134. Which of the following are called the Twins of Bretton Woods 2 & WHO
(1) IMF&IBRD  (2) IMF&WTO (3) IBRp&wHO (4) ADB

& 808 8s® 380 BYS HE sdo™ DenRE?

@ 0.0.05 & w. 0. ©86.8 (2) P-QO.QE}&ﬁ@s-eﬁ'é’

(3) ®.0.05.88& se; 35. & (4) D.8.8 & Keng. 5. &
135. Who was the founder of ‘Hyderabad Protection Samithi: 9

(1) Boorgula Narsing Rao (2) Hayagreevachari

(3) Ramachary (4) Mandumula Narsinga Rao

TETerS @PBES S8’ PISETS ?

(1) erdoRe0noD 2) SopfisTo

B ovare (4)  Sossmre $BOHTD
136. The Gentle men’s agreement at Delhi was signed on -

(1) 16 February, 1956 (2) 18 February, 1956

(3) 19%February, 1956 (4) 20 February, 1956

8D &* DD 50wl P O Ber Soso Bahalss

(1) 16®2@56, 1956 (2) 18m2@s6, 1956

(3) 19358, 1956 @’ 20t 50, 1956

137. When was the first Industrial Policy of India launched ?
58 BEoS® Anise B EeY Deeko P FBoDosndod ?
(1) 1956 (2) 1948 3 1951 (4) 1965

138. Whatis meant by Monetary Policy ?
(1) The process by which the Parliament controls the Money supply
(2) The process by which Central Bank of a country controls the supply of Money
(3) The process by which IMF controls the Money supply
(4) The process by which World Bank controls the money supply
(555 DPH0 WPPI ?
(1)  SrEbotn (5558509 dahoBosKo ﬁ
28 B0 Gy Bos emgot (555 B8 Aebo@oisiéo
(3)  woisorbiab (555 96 (555 BEHT% Do BoSEo
(4) Do ergob (55 $8H0°R AohoBoNKo

139. Ifthe Balance of Payments ofa country is adve;‘se, then which institution will help that country ?

(1) World Bank (2) WTO

(3) IMF (4) Asian Development Bank
&8 B¥o 83 $15% (Balance of payments) 300589 ::86‘ Ao D RNOY 8%H0E008?
M) @osempl (2) sos edey :60:6

@ wosréah (55500 (4)  ehate oBisy0 a:u;os)
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141. ‘Nizam Subjectg League' wag,

. Whatis the historical import,

Movement ? “¢of the day 27 April, 2001 in the Final phase of Telangana

(1) Formation of Telangay,, Rl:

(3) ‘Dongiri' Declaration “*Forum  (2)  Foundation Telangana Jana Sabha

8OO &5 0B KKK Sgoo gt (4)  Foundation of Telangana Rastra Samithi
0 2? H

(1) Beorrg 26 1650 Do IS, 2001 TOESY (gl ;)? ? s

(3) bssnAs AEBLS (2) Boorrm ke i

@f doorres U"é FSPAV 1) ﬁ;éé

Oundeq
Vero SBEL OR' 5 srorered oo b few edu

cated elites of Hyderabad State in the year.
(1) 1929 (2)

142.

1932 1934
Who was the ‘Home Minister

Agreement’ by Andhra & Tela::;:::;:agzrzlzﬁ 11'32':50?0 oceasion of signing of ‘Gentlemen’s
E;g i;;f;f S::;i (2) Govind Vallabh Pant
1956 & Soss\so &b = S5 S0n (4) Moulana Abdul Kalam Azad

HSo RO IS a..tﬁomc.é;; BOE O Boorres Tdhken Hodsres IS
(1) Sobo8eé

(3) Somb @ 553)055‘395505
U‘. 0D

143.

14 P 0mé Soro wenk

y ‘“Telangana Prajasamithy’

How many seats were won b

in the 1971 General Elections in
Andhra Pradesh ? '

(1) 12 (2) 11 (3) 14

A

144,

Who organized democratic Telangana conference in December,
India People Resistance Forum’?

(1) Marrichenna Reddy (2) XK.JayaShankar
(3) Kaloji Narayan Rao (4) VedaKumar

E008 1997 % Sod8o & ‘wf woldse DB BRRS) 8o’ 8 Bod BErEBE
80T 5°9)BS ) DS QNGO ?

1997 in the banner of ‘Al]

(1) p3mgs @) 8 acwoss 2
13 ottd roedhroeg (4) Jusoures
1 45 Identify the commission appointed by Telugu Desham government in June, 2001
(1) Bhargava Commission (2) J.M. Girglani Commission
(3) Non-Mulki Protection Commission (4) Telangana Mulki Commission
@3, 2001 & Sos8y50 68 BenrbdHo Behso NHMODH BT % KBodol
(1) oss 8hnas - @ aM.nwh shugs
(3) 8 sb, DS sh4S (4)  Boorre sob, Ehuss
"c"""'----...__




Sixth fingertoa hand’ ?

(3) B Ramakrishna Reddy Ei; o sy
a5 % S50 sk w@ﬁm'mam : K. Brahmananda Reddy
(1) Maw a4 @
(3) B.omgas g,
¢ (4) x @850 38
___—‘-—-_"‘-‘-I\__
147. Identif the 1
| ¥ the leader from Andhra region who wp, not a member, who signed on the
Gentlemen's Agreement: in 1956
1 . .
(1) Damodaram Sanjeevaiah (2) N Sanjeeva Reddy
(3) Gauthy Lachanna
555 & < (4)  B.Gopal Reddy
e g;é:fo {:; DEHHHO abondBD Kosme, B85 o od  abbed® Sehd
BoSol.
DArEE0 Soddsy (2) N.sodsas
(3) Aweosys (4) B.r>s3E
148. Who was the editor of ‘imroz’ a popular paper in Hyderabad State during the period of
Osman Ali Khan ?
(1) Md. ArifKhan (2) Md.Igbal
(3) Shoebullah Khan (4) Raza AliKhan
a&ﬁubwﬁwwwmu&wm&mmmmmmm ?
(1) Md. «8% g5 (2) Md. ssvy&
l@’ﬂ‘:&mqgv5 (4) GerwbyeS

Arrange the follbwing events related to Telangana Movement in Chronological order :

(a) Telangana Vidrohadinam

(b) Bhuvanagiri Declaration

(¢) Namaste Telangana daily was launched

(d) Sagaraharam

8oorrn agibiin &° Soaosns) & Bob Sobbsed B $E86° it 08
(a) Boorrs OEte B0

(b) €HEIAD AKTHS

(c) %HFBeoorres &I HBE SEoboHes RS
(d) R»rs80
(1) acdb f2) b,eda
@ a,b,cd (4) d,b,ac
C 34



"' T —

80 Thestudents of Telangana congy

; .o in Osmania University, on
"oteq idyarthi Garjana’in
(l) 14" June, 2013 To.langana Vidya

v (2) 3r January, 2010
(3) 3"January,2012

30OTTER DD AV Dy (4) 10* April, 2011 o
el !
(1) 14e~§,2013 S%W%oé,-aoommwsgﬁgwmbas‘wads o

) 38,2012 3 w556, 2010
- ‘ (4) 10 H®S,2011
_‘_,_..--'"'-_ _\

151. Jdentify the person who brought the illegal appointment of non-locals in Kothagudem
thermal power station for the fiy

t-time into public?
A
E;; S Ra;;:la:as (2) A.Ravindranath
ree a

3 (4) IKiranNath
FgrinCo 555 S8 RIS 6° S S ) oty eoey DA DRy FodFoeseo 1O HPE &°8

B0 58
(1) Aok @) A SdosTE
@ éosos (4) L&S5

__‘_-_-_‘_-‘-l-l_.__

152. Justice ‘Srikrishna Committee’ submitted its report to UPA government on

(1) 30*Nov, 2011 (2) 3"Feb,2010
. (3) 31%Dec,2011 (4) 23" Dec, 2009
W eRSEEH S8 UPA $e5em08 85 026 ) e 65,0,0056 7
(¥~ $Sow6 30,2011 (2) %e$83,2010
(3) &%om631,2011 (4) &nowb 23,2009

153. Arrange the following events connected with the Second phase of Telangana Movement in
chronological order :

(a) Appoinment of Justice Sri Krishna Committee

(b) Rail Bandh

(c) Million March

(d) Submission of resignation to Chief Minister post by N. Kiran Kumar Reddy
B0k 58 Boormes 6550 6° & Bots aispds Mottisei §H SEBE° ey

(a) oB%E 80808 dairko

(b) Péwob

(c) DoDHE 508y

(4) SowgSo 5508 N. 866 ©i5r8 38 rdrisr SDB0NE
a) a b,ecd (2) bdeca
(3) d,bca (A‘rb.c,a.d

¢ 35



154.

Satellite communication uses the following electro Magnetic waves . Waves
. _ a
(1) VisibleLight ~(2) X-Ra¥ (3)  Micro Waves
Cﬂ).ﬁ"&oé SBOMTedH ﬁg}d‘b‘ﬁo&@ ?

B0 aBdsiro & Bob QSR D DS
(2) X-25eeen

{1) 55355 A%eeeen
(W dtandsore

@ Ds° Sorren

(4)

155.

What is the code name used for first Indian nuclear test ? |
(3) Smiling Buddha (4) Finak?

(2) Pokhran

(1) Chargi
e e 56 22008 TR §°E 2,
2008 e (4) D8

(1) =8 2y oS G
Q>

156.

Speed of internet is measured in
BobTyS Gk AR BIE° SR ré:_;
Dpi (4) GBPS

(3~ GHZ {2) GB (3)

157.

The common components of photo chemical smog are
(2) NOZ and SOQ_

(1) Ozoneand SO,
(3) Formaldehydeand PAN (4) Ozone, Formaldehyde and PAN

008 BI0HS Ffh 6° FBEorT Aol dtseen
(2) NO,&6d» SO,

(1) &&°%S 56 SO,
(3) 20°03rE 500 PAN () 8% 300308 900 PAN

158.

What is the impact of “Climate Change” on troposphere ?
(1) Increased CO; levels increases C; plants productivity
(2) Increased CO, levels increases C, plants productivity
(3) Precipitation increases throughout the earth
(4) Temperature decreases throughout the earth
(a0 Dot “emeeiSises Sy Gty S0 DD ?
(1) 2BA% CO,pow S0k C; gy B8 EIHE

(2) 20nSCO;Paw oS C, 3050 GG HEADE

(3) 2 Ando Dot wBFE0 &IOS

(4) a0 Bndo dois GRS EIDBE

159.

Which of the following radio active elements is used to make nuclear fission reaction ?

(1) Thorium ‘L@ﬁranium (3) Barium (4) Actinium

Bob & BAGP gr08 dreseR) eHAPA0D B DB S5 ethHEed:?
(1) &eawo (2) c&wdddso (3) Boavo (4) eofdanS
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6. which of the followin,
™ (1) Brassicarap, *high) . o
(3) Linum u8itatiaaimum evels of Protein and rich in thiamin in its seeds
$800 WY Aceserest ®08 S (2) Arachis hypogaea
)

§ (4)  Pennisetum glaucum
i 0Bt Q:bg S WE™ dotran ?

_ @ oS b8 ahase
_ ThemaIN reason of ozone Ia (4)  2aveS mss
) EL S Trom vehicles = depk’ti')h is due t -
(

Chl
. Mm MCarbomn e Poung 2) S0, from fuels
0D Sowen 4) Methane gasin atmosphere
TP Dol CO DDBO ey, o TSI Dotser TSN Sow T80 2
§6* et si5.5 (2)  sosme oa S0, Dedtse Fo%

TEER06" S Pt So%

g plant hy,

1)

a’m-o:m

ryption
2) Voicetodatg conversion ang s
Convert from analog signalg tq g;.. " °'c€ Conversion
4) Check for virus dlzltal and from digital to analog singlas
D A, babvsn S 2
(1) Encryption S6dsy decryption

(2) &0 508 meer S5 Ter $308 tyhn LS OEEE 50
() SRR o880 000 se0s ot “EPREE Bt 0k Babs 1o o0 wdooF
S0B80 e IPKA Syt

(4) D550 890 Basiso

163. The first patent was issued on a human gene sequence is located on which chromosome and
what kind of health risk is caused due to its mutation

1) 4and Huntingtin (2) 23 and Hemophilia
7 and Cystic fibriosis (4) 17andCancer
ErRS eogBr08 InsBIBT HBoL wrb Babrs ) © AR ots 6087 6B 68BBES
3008 O DT 68K Sy BenroEos ?
(1) 456a50 B3NS (2) 23500 trarbdase

(3) 7%Ba HYHE HoRRRS (4) 17 2B 55

164. What is the reason for increasing sea level in some coastal areas ?
(1) Decrease of CO, in Troposphere

(2) Increaseof O;layerinstratosphere
(3) CH,trappedbeneath frozen soil of Alaska
tion
S;MA;::& s D doepen DEKTRS s°E@0 AE?
(1) @*2ea98 &° CO, drptse
(2) Iyt 06 & O, 8 DS
(3) w0 6® he5D00s Jo e Bots 98 CHy

@ oXHo Dod¥o

P — — 37




165. Infiber optic communication the source of Light used ig CFL)
(1)  Light Emitting Diode (LED) (2)  Compaot Fluorescent Lamp (CFL
(3) Diode (4)  Semj conductor laser
)8 S0 058 &° D 5708 wFEI AHRRAIL ?
(1)  5°08 ares &6 (LED) 2) SoE geetRots erof (CFL)
(3) s&E .
166. The size of quantum nano dots is around
oL S @¢S,) GwE) SEPHSHD HOED Ded
(1) 300nm (2) 200nm (3) 100nm ((4) 10mm
167. Data scientists require the following skills.
(1) Data visualization only (2) Machine learning only
(3) Statisticsonly (4)  All the above
Tol Depidiin HOBase SeEEHne® LB, Se8easm.
(1) wtrHTF Jgo8® SrstHn SrEd (2)  ciro@X 55 SPEdH
(3)  Kemol Togisn S @' 25N
168. Increasing blood clotting time is due to the deficiency of which of the following vitamin?

D DD 651525 0% o 5 BT BHcHisn DEIDEHOE?
(1) vitaminK (% VitaminB,  (3) VitaminA (4) VitaminC

A Kind of injury or damagé that results in the damage of premature death of all the near by

169.
cellsin a tissue or an organ through autolysis is known as
(1) Neurosis (2) Necrosis (3) Apoptosis (4) Cellularselnescene
&8 BEI il 8RR © Seao SRS dwoth By tissue ) Soe esoeioi & Bod & S50
DBee IPD.
(1) 85 | (2) SmgBtR%
CEL (4) PeogerB Hymiso
170. Arrange the following events of “biogeny theory” in a sequence.
A.  Formation of coacervates
B.  Aerobicorganisms came to existence
C.  Heterotropic organisms began to form
D. Mycoplasmas are first formed cells 4G
“BrEd bm;oéo”@% & 808 Sognbredd SHBEDS® w08, hﬁ
A & 555@ SA8rHL
B ordiristrd dhen aD86508 Sovyow
C. S5k £Hen Interve
D.  BEPpdren IntadncsBre Sasrdons Swre

The correct answer is / $56 ©@on:s $S&rmrddn
(i) ADCB (2) AcCD,B (3) BACD (4) ABCD
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A measureg outputin Seq
(1) Gross domestic Prodye
(3) Current account b
285538, Koex 85:%0, S

S 1: _
Slike electricity, mining and manufacturing.
alﬁnge (2) Indexofindustrial production

D00 g, (4)  Fiscalsurplus / deficit

(1) "*”*EU a'&(ﬁ) ad\d 8 o8 Sorreet TGS Jeddob.
(3) K aoen ey, @) oot as@ird

Tk : (4) @568 /g8 Dorden

172. Asthe Amencan automobilg o °

been taken oyey by Pany Ford exits India, it manufacturing unitin Gujarat has
(1) Mahindra (2) Sy
88 TGS 00 SE IO, ¢ ki (3) Tata (4) Hyundai

T e T TR S0 K0P Y © rharS 6 ay SAied comeeS

(1) LGBTIq Peoples y
(3) Gay People (2) Hijras

©oSPHA% S0 %0s (035 (4) Transgenders

SDROERISEOES Jo A RS Bohs B8ioenssy 08 Dt ofoben
Q) eensong (2) teres i
B) Asge (4) oK &reyd $90es .

L) So geusg 2

174. The Indian Y plans to Create an Integrated battle group combining strike formation on
northern border ang

(1) Hold formation on western bordey
(3) Hold formation on northern border
B0LadS ©f; g NOPSR) Houg

(2)  Push formation on northern border
(4)  Strike formation on western border
08 A eyones® &y ROHE" 38 FEES & S

B0LDoB.
(1) S8y BLHE* TS 848 (2) esseens 95 FOFHS
(3)  e8536:0e" TG 338 @) st ROLE® B8 :EHS
175. is expected to host the summit meeting of Shanghai Cooperation Organization in 2023,
(1) China (2) India (3) Kazakhistan (4) Russia
2023 &° 3555555 ol 3 & w845 SEIRAS BE S5-I & asKon,
(1) o (2) =58 (3) ¥uddS (4) oang
;6_ The Election commission has announced polls for Rajya sabha seats that fell vacant
between June and August 2022.
0% 508 e 2022 5% ua@ ooy Draydes Sk JSe E4S D00k D58 oDoh.
-_-'-'---.-__
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ent

inst Rapido organization over 5, advert! (4) ConsP! racy

177. TSRTCfileda ___ caseagal

(1) Defamation (2) Copyright (3) Cheating

8 % 66 B 5 afise TBE S0P B0y TGO EBOVR S5 S0oD- (4) B

() =005 (2) =596 (3) a0 e
178. Russia has overtaken which country to become India's second bigg('}st supz:::)er o; t:::ﬂine

(1) Qatar (2) TIran (3) SaudiArabia e

By Beedyebldod PEE & Souto FEHT> B Bereh Botd VO e P

(1) web (2) @ooR ﬂ 5939653‘/—
179. Which country become the 4'" new member of the New Development Banl;42)02 IE';ypt

(1) Bangladesh (2) Myanmar (3)  Uruguay

S5 BrbegotS eryo & 2021 6° E°E™ $5¢f5850 0B 380 DB ? . i

(1) wordd (2) BT (3) amwbof (@) s#%

180. The Human Development Index 1s an indicationof

(1) Income, Health, Education (2) Income, Health. Trade
(3) Health, Education, Nutrition (4) Income, Health, Imports
B BN P08 % Br0800.
(1) ewrcio, a&i50, D5 (2) sordho, 88K;0, P80
(3) w0, Dy, TPHEE (4) soraho, 885550, Db
181. Cyclone Asani, which formed in the month of May 2022 affected ~ state
(1) AndhraPradesh (2) TamilNadu (3) Kerala (4) Karnataka
2022 % Bos® D5y oD HFH Herso _ orgod’ 855808,
(1)) woi@as (2) St (3) So¢ (4) Sopw¥
182. The Southwest monsoonsetsin firstin ____ state.
(1) Tamil Nadu (2) Kerala (3) Karnataka (4) Maharashtra
BB awdddTen Swothre _ oegod® HI8ean.
(1) SDato (2) v (3) sopes (4) Spog
183. The Supreme Court of India suspended  covering sedition
(1)  Section 120(B) of IPC (2) Section 124(A)of TIPC
(3) Section 128 of IPC (4) Section 132 of IPC
a0 oY IR ND0B__ Skpd) e 63(._‘;)0 £% 205306
@) »55120(0)08 S 124(0) 0 BB
(3) 25128058 Zkéﬁlazaaa




he Kruger National Parkisip 4 Singapore
184. T g (

(1) Greece 2) Russia (3) gouth Africa
S50 HBEoS’ dop *
%58 ;:acﬁ: o D a¥o b '.; L (4) Sord
( ) i A
185. Match List T with List-I1and select the correct answer
List -1 List— 171
(a) Vatsa 1) Ud,aYana
(b) Avanti ii) Prasenajit
(c) Kosala &iii) Sishupala
(d) Chedi iv) Pradyota
erde [0, erdar 11 8° 8000 56 wong Smgedtn Ebfddm.
AL | e [
(oresgiso) (Srotes )
(a) &8, (1)  escwg
(b) 508 (i) Ghses 2 =
(@) &%e I\(iii) Bodents
d Do, (iv) @’:&‘5636;
The correct answer is / 36 @onsd SSrersdsn
Efl) Eb (c) (d)
1) () (i) (i) (iv)
() (iv) (i) (i)
i) (i) (iv) (i)
4) (i) (i) (iv) (ii1)
186. What is the expansion of NASA ?
(1) National Agency of Space Administration
(2) National Aeronautics and Space Administration
(3) National Air and Space Agency
(4) Navigational, Aeronautical & Space Agency
T 0 DB D ?
356 SEh) o5 15 o8 085S (2 3536 D08, & By ol 0055
(3) I8%S OB & S dBY, (4) >SS, DF>BES & &5 Sab,
187. All the countries of continent are members of G-77.
(1) Africa (2) Asia (3) Europe (4) South America
oo 682 o) Beven 8-77 &° $ehen.
() ep= (2) eho (3) =&t (4) BineDos
188. Thomson Reutersis
(1) Canadabased Ezg UK based
(3) USAbased 4) Australia based
5‘&35 U“O)Jbs')_ ?60?3? Ba°08 Bobob.
O (2) o3 (3) o.38.9. (4) edocss

C a1



189. Which one of the folio“ﬁngstawmentsisnotcormttahgm.]m?
(l) According to Jaina tradition, at the time of Mahahhamt.ha war. Jaina order led by
Neminatha, who is recognized as the twenty secong Tirthankara |
(2) Jaina monks were found on the banks of Sindh,, river at the time of Alexander's
invasion of India.
(3) The famous Gomateshwara statue was erected Sravanabelgola by Chamundaraya.
the king of Gangas in 11" century.
(4) Mahaveera preached in the mixed dialect called Ardha—Magadi and his teachings were
classified into tweleve books called ‘Srutangag .
2 aaémmmadeMme?
1) Boos Sogordbo Gntin DHECSEdg Sas B8 Se0? Ao
| Bl Sirienid wsd 225 BGOSEA™ Miloh Boass
(2) ©o88¥0p wBTOLE Gotdim® POE BS Sovyoes vomss LoIGroOSENSt AHAD

Byl

(3) @p Bobs M&BE MY oo MoBPSE 11 5 Sevcol Mok SofdpEond
TE0otorain.

(4) B0 85 C*Bses ofErro € E'00B5 el Edse Wdorw LHE 12
ogsnenrr HE*obmran.

190. Which one of the following statements is not correct about Ashoka and Mauryas?
(1) Dhamma-Mahamatras were a new cadre of officials created by Ashoka to spread
Dhamma all over the empire.
(2)  According to Mauryan sources Pradeshika. Rajuka and Yukta were important officers
at the district level.
(3) Pativedaka and Pulasani, were responsible for maintenance of Treasury and accounts
(4) According to Dipavamsa and Mahavamsa Ashoka killed 99 of his brothers and

succeeded to the throne.

ST G0 HBk @8BS SotoBoDSoSSEE & Bobd SESLEed® S8sns 58 7

(1) &5 dagreo & iy NPoSinOD SE'BoHLE T S8 rirde ©% SrEs
05O DAHoTH,

(2) Sope 8, eodive Geto ‘Sdbber, teHer Lo g 2o $68
©HSDHe.
SIS DBA HoF0en oray; 8580 Bt Keroswi(Ben ) Sr b

(4) Mmmmﬁmmdw&s%:maﬂmmmoa
OIS EHD $3y%.

191. Whoamongthefoﬂoﬁngmmmthemmmripﬁon?
(1) Vatsabhatti (2) Chitradatta (3) Parnadatta (4) Chakra palita
SOLANE TvHIEE 58 ?

(1) ssee (2) ooy (3) sgos (4) sgaos




192. Assertion (A): Balban coulq p raise the numerical strength of the army to the level which

1t reachf’:d latey at the time of Allauddin Khilji. ;
Balban insjgteg upon high birth as an essential qualification for appointment

to higher civi) o military posts.
Choose the correct option from, the

(1) (A)istrue, (R)is true ang (
(2) (A)istrue, (R)is true but (
(3) (A)istrue but (R) is false
(4) (A)is false but (R) s true
o880 (A):
s*8e0 (R):

Reason (R) 3

following:
R)is the correct explanation of (A)
R)is not the correct explanation of (A)

0D S5 B Sowmgtior eeabS Db G, 2isin €08 BB 5.

BLO8506° £ Bitinet 50 S50 PFoBmOE a8 Sorod® Hhrsn a8 ©gsm
83‘0.}5 PO,

& 800 BS® $08 56 wans NEPTRS 505 Jobhsol:

@ (A), (R) e $e85men S8k (R) &8 (A) % 56305% D5e

(2)  (A) (R) oo $550e0, 58 (R) 6t (A) % 56005 D560 56
(3) (A)S8Ened (R) 38550 2 s m
(4)  (A) 3850 5ot D (R) St

193.

Match List I with List-II and select the correct answer

List - I List—1I
(Texts) (Authors)
(a) Kumarapalacharita (i) - Chandbardai
(b) Vikaramankadevacharitra (i) Kalhana
(c) Rajatarangini (iii) Bilhana
(d) PruthvirajRaso (iv) Hemachandra
& 808 TV 2ESEHD.
o5 -1 og -
(Kotssmen) (SSonsen)
(a) BErEFOSOS (1)  oofmpon
(b) OEErosASIOS (if) Sgmd
(c) oressBone (i) Dot
(d) ybgoes oi® (iv) SrdSogerd

(a) (b) (c) (d)
(1) () (i) () (iv)
(2) (i) (i) (iv) (i)
(iv) (i) (i) ()
(4) (i) (iv) (i) (1)
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194. Match the following.

List - 1 List ~ IT
(Dynasties) (Kingdoms)
(a) Nizam Shahis (i) Bidar
(b) Imad Shahis (ii) Golkonda
(c) Adil Shahis (iii) Berar
(d) QutubShahis (iv) Ahmednagar
(e) Barid Shahis (v) Bijapur
& B0 DN wBSGHED,
O% -1 O% -1
(omySo¥inen) (crogiiooen)
(a) Dero dpbren (i) bss
(b) @irs lwes (i) Meyor
(c) wo& ke (iii) BB
(d) kb bre (iv) @l
(e) ©b8pbres (v) beripb
(a) (b) (c) (d) (e)
(1) (i) (1) (iv) (i) (v)
(2) (1) (i) (iv) (i) (v)
(3) (v) (iv) (iii) (i) (i)

@

(iv) (i) (v) (i) (i)

195.

Which one the following statements is not correet about Bahamani Kingdom ?
mewmwwmmmmmmm 1327AD.
Among all the Bahamani rulers Shihab-uddin-Mahmud’s was the longest rule.
Mahmud Gawan was appointed as Prime Minister of Bahamani Kingdom at the time of

(1)
(2)
(3)

(4)

Muhammad Shah III.

Kalamullah Shah was the last ruler of Bahamani Kingdom.
a@amwmwmbmﬁdé:ﬁoﬁmmammm.
@ w@bwww:»ﬁwﬁa-ﬁmw‘m.
(2) oSl Derbeottdt ks 658 B8 s Soo R0
(3) w&g&mmqsmwmnaswﬁmm.
(4) ol s svth Do Soine .

i



96, Amangethsfollowing Bhaktileagerg according to their year of Birth.

5 g (b) Chaitanya Mahaprabhu
sy (d) Kabir

o @oz 65; S HITTDO B F0i88\80 wgrdore S BHsns® S50
i (b) ;i 6

c) HHTRE @ 66

(

(1) () (®) () (@

@ ) @ @© (2

3) () (a) (@ (v B

Q @) () (b) (a)

197. Name the Afghan who played an important role in forming Rajput confederacy against Babur

at the Battle of Khanwain 1527,
(1} Alam Khan of Kalpi U Y\ e [
(2) Hasan KhanMewati

Yy - ™ @
' A
(3) Nizam Khan of Bayana Df\\ | g, @ - @f@ [ P
(4) Tatar Khan Sarangkhan of Gwalior 5

1527 sreay aogod® erwb $ 58080 o8 Sdragd o

org 8 0w

P
(1) 558 BobS wooard -
@ ;‘E)JSJ‘&'J 8 3obd IR 5“5 LQ}L
(3) 2rcHI % BobE Wero g D)\\ 0 e : NG WO (2
4 b \ ¥
(4) MOt % 3oBS &35 goR 8ok g8 " I{ N Y o

198.

Which one the following statements is not correct abSut éhwa]l Coron%:mn Ceremony ?

(1) Itwasconducted by ‘Vishweshwar' a Pundit from Benaras.

(2) Balam Bhatta wasa family priest of Shivaji

(3) On 10 June 1674, Shivaji re-married his four sumwng wives according to Kshatnya
rites.

(4) Shivaji was obliged to undergo a second coronation ceremony on the suggestion of a
well-known tantric priest, Nishchal Puri Goswami.

& 8ob @65:‘.‘;:6?.‘3:3065 58 %6 @onod s°tH?

(1) Bard Hepfagsnd Airodod 8% & B0 ‘DG’ HoBBD.

(2) ‘oo’ Bard Hotnon HEEFED.
K@dsh G @sbo e~ 10, 1674 % dard A200 &F) &5 Jendd el 80A

DFHED SBRD.
(4) oBs T ©owd 0y &b MrD SoiFp d>d 80A HEPYREE

o D0HE St ©oNEB0T.

-
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199. Which one of the following statements is not correct about Rgj Ram MohaR Roy !

(1)
(2)

(3)
(4)

He condemned the idol worship and Brahmanical rityg)g

: d rgonal
He propagated Monothesim and stated that religion angq gjvine worshiP mere pé
matters of an individual and unjustly controlled by Priegts.
To support his arguments, he depended upon Vedic and puranic Literature:
ip to be followed 11 the

He wrote a pamphlet ‘Anusthan’ prescribing the mode of worsh

Samaj.

& 808 HS5S5S5Emes® D6 Toer ool e oodd B SotfolodSogsd K0 @onHE 5o

(1)
(2)

(3)

S DEPTESS% 5B i gaen ESIA0T DS e mores HOBODD-
sy HOAD HHSHD erSS B8 By Jfabs DaHHO SR IO S0 BQ

O 85 865068 Bio%i SN 6B DEYE R Harbsn T

85 s ol FrEriEs 8D Jhven $H8 Jorn FirE0PR BEREHB.

i im0l BHBOE BTNSS O BEBE° dome* BDAD Byt ‘@IS ©F OI DS,

BDoBd.

ein India ?

200- Which one of the following statements is not correct about Portuguese presenc

(1)
(2)

(3)
(4)

In 1498 Vasco—da—g‘amﬁ reached Calicut on the Malabar coast where he was received

cordially by the Hindu Raja Zamorin.
Francisco de Almeida, the first governor of the Portuguese in India followed a policy

W

knpown as Blue Water Policy.
Portuguese conquered Goa from Mysore rulersin 1510 and made it their capital.

Alfonso de Albuquerque was the second Governor of Portuguese in India who tried to

introduce reforms in the Hindu society by legally abolishing Sati.

erE8B 806" KA 08 $0efoBODKoSSEE & Bod BE° DB ¥8 LonSH oK ?
(1) 1498 Sos58y508® RfKrsr Hoerb 85060 088 & Tm ©ih Srolr ooer

(2)

©

(4)

‘BPDON ' a8 PBorr etboBD.
FESB50S® I Fiofio KSEE wowd P, & GOT ‘mp b JrSLy

©S500003%.
1510 S0s58y506° k8 e 08 )i & Al mowod A 85 Tragedme

S53)8°00. |
EEBE 06" DA% a0 Botsis KSEE re VDB ‘@B)0RF & ewerr)¥8), Sheitorr &
8 Q

56 BaHisin orsoe Srotir Siraod® $oi)Srpinot ©o%HTeEs mdoB.




